CTET L1 HINDI L2 ENGLISH P1

Topic:- CDP_P1_S3_CTET
1) Which of the following is an example of gross motor skill ?
(1) Holding a pen to sketch
(2) Cutting the paper in zig-zag way
(3) Putting beads in a thread
(4) Kicking football towards pole
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[Question ID = 1][Question Description = CTET_P1_PART_1_CDP_SET_118_Q1]
1. 1 [Option ID = 1]
2. 2 [Option ID = 2]
3. 3 [Option ID = 3]
4. 4 [Option ID = 4]

2) Development of children proceeds from to

(1) centre , extremities
(2)toe , head

(3) specific , general
(4) complex , simple

T=a31 F1 T AT TZATE |

(1) F== , =

2 i, e

(3) faforez |, =TT
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[Question ID = 2][Question Description = CTET_P1_PART_1_CDP_SET_118_Q2]
1. 1 [Option ID = 5]
2. 2 [Option ID = 6]
3. 3 [Option ID = 7]
4. 4 [Option ID = 8]




3) Assertion (A):
Socialization of the child first begins with her parents in the family.
Reason (R) :
The family is the primary agent of socialization.
Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) Both (A) and (R) false.

FrIFaT (A)
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[Question ID = 3][Question Description = CTET_P1_PART_1_CDP_SET_118_Q3]

1. 1 [Option ID = 9]

2. 2 [Option ID = 10]

3. 3 [Option ID = 11]

4. 4 [Option ID = 12]

4) In accordance to Jean Piaget's theory of cognitive development, which of the following concept
should be taught to children in the age group 3-6 years ?
(1
(2
(3
(4

S T "R = 6 Fard F aee, Heteied § 7 Rie-Ai
FFAYTIOT 3-6 TF Fl AT AT T==1 Fl H@WT Jg0 ?
(1) FTem
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(4) ATFEHF AT

[Question ID = 4][Question Description = CTET_P1_PART_1_CDP_SET_118_Q4]
1. 1 [Option ID = 13]

Conservation
Seriation

Symbolic representation

DL Rt P .- S

Logical application



2. 2 [Option ID = 14]
3. 3 [Option ID = 15]
4. 4 [Option ID = 16]

5) According to Jean Piaget's theory of cognitive development, at which stage can maost children
organise things/objects into categories 7

(1) Sensorimotor

(2) Preoperational

(3) Concrete operational
)

(4) Formal operational

S 09T & HSeTEs B F Mgid 7 agare, Afgwer a=a e a e §
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[Question ID = 5][Question Description = CTET_P1_PART_1_CDP_SET_118_Q5]
1 [Option ID = 17]
2 [Option ID = 18]
. 3 [Option ID = 19]
4 [Option ID = 20]

A W N -

6) was used by Jean Piaget to describe cognitive mental concepts.

(1) Scaffolding

(2) Object Permanence

(3) Schema

(4) Zone of Proximal Development

ferm T T 9T |

(1)91E

(2) 7eg T
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[Question ID = 6][Question Description = CTET_P1_PART_1_CDP_SET_118_Q6]
1. 1 [Option ID = 21]
2. 2 [Option ID = 22]

3. 3 [Option ID = 23]
4. 4 [Option ID = 24]



7) Rajni judges her friend’s actions based on “tit for tat” mentality. As per Lawrence Kohlberg's
theory, at which level of cognitive moral development is she at present ?

(1) Conventional

)
(2) Pre-conventional
3) Post-conventional
)

(
(4) Formal conventional

THAT FTT ZEAT & FIAT F0 “STH /T GAT ATAHHAT 5 AETE T T=A7 g | A0H
FIgAat & HZA & ATAT, TAATT | THAT GATATHT A% (A6 & (e &7
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(2) TH-T 9T ETT

(3) THT-TLIIETT

(4) =TI TOTEE
[Question ID = 7][Question Description = CTET_P1_PART_1_CDP_SET_118_Q7]
1. 1 [Option ID = 25]
2. 2 [Option ID = 26]

3. 3 [Option ID = 27]
4. 4 [Option ID = 28]

8) When students face difficulty in solving a given problem, a teacher should scaffold students by

(1) inculcating fear of failure among them
(2
3

(
(4

presenting half-solved questions to them

adding distractors to the given problem

T e S e

discouraging verbalisation of their thoughts

st AT PRt w97 T Z Eree % ST JHET R HHAT G g, A7 AT
=it =71 e 97g 9T 991 T aFA 2 ?
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[Question ID = 8][Question Description = CTET_P1_PART_1_CDP_SET_118_Q8]
1. 1 [Option ID = 29]
2. 2 [Option ID = 30]
3. 3 [Option ID = 31]
4. 4 [Option ID = 32]



9) Select the correct match of theorist and the idea proposed by him :

(1) Lev Vygotsky — Cultural tools
(2) Howard Gardner — ‘g’ factor intelligence
(3) Jean Piaget — Scaffolding

(4) Lawrence Kohlberg — Emotional maturity

rgTeaaTar s 3 ZT WA = & '8 9 g
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(3) st o — are
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[Question ID = 9][Question Description = CTET_P1_PART_1_CDP_SET_118_Q9]
1. 1 [Option ID = 33]
2. 2 [Option ID = 34]
3. 3 [Option ID = 35]
4. 4 [Option ID = 36]

10) A progressive classroom promotes

(1) urge for knowledge construction
(2) sense of alienation among students
(3) disconnect from social context

(4) rote memorisation of context

W LT HAT B Jed AT g ?

(1) ST I T =T

(2) FE=TET 5 e fEEET w5 9

(3) ATETISF HEHT | HATA

(4) FEag-awg F1 Fzefmr
[Question ID = 10][Question Description = CTET_P1_PART_1_CDP_SET_118_Q10]
. 1 [Option ID = 37]

. 2 [Option ID = 38]

1
2
3. 3 [Option ID = 39]
4. 4 [Option ID = 40]

11) Madhulika is good at dancing and performing yoga. According to Howard Gardner, she has
high levels of intelligence.
(1) Intrapersonal
(2) Interpersonal
(3) Bodily kinesthetic
(4) Musical



HeferT Fe &7 A0 Far § [qw g | grae Meq? & dqare, 39+ 79
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[Question ID = 11][Question Description = CTET_P1_PART_1_CDP_SET_118_Q11]

1. 1 [Option ID = 41]

2. 2 [Option ID = 42]

3. 3 [Option ID = 43]

4. 4 [Option ID = 44]

12) During a question-answer session, a teacher is giving more opportunities to boys for asking

their doubts and questions. This directly represents :

(1) Gender empowerment
(2)
(3)

(4) Gender parity

Gender equality
Gender bias

T T9F-39C T 3 ZC07, T SFLATTH Faer el 0 gl AT F9 T 797 [T
HAET T IET ¢ | Tg THH =7 F et ge=qid g ?

(1) ST HYEFA 20T
(2) ST JHAT
(3) SiET THTTT

(4) STET TR

[Question ID = 12][Question Description = CTET_P1_PART_1_CDP_SET_118_Q12]
1. 1 [Option ID = 45]
2. 2 [Option ID = 46]
3. 3 [Option ID = 47]
4. 4 [Option ID = 48]

13) Individual differences in learning pace are a result of :
(1) Heredity only
(2) Environment only
(3) Both heredity and environment

(4) Neither heredity nor environment



FTERT 37 F =g ATSeare T afvomy g 2
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[Question ID = 13][Question Description = CTET_P1_PART_1_CDP_SET_118_Q13]
1 [Option ID = 49]
2 [Option ID = 50]

3 [Option ID = 51]
4 [Option ID = 52]

A wN =

14) Which of the following is correct in the context of assessment ?

(1) Assessment should be done only through standarised tests.
(2) Formative assessment occurs only at the end of instruction.
(3) Criteria-referenced tests use ‘norms’ as the typical level for performance comparison.

(4)*Assessment for learning’ involves self-assessment by students also.

|t O e B B e = e 2 e o
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[Question ID = 14][Question Description = CTET_P1_PART_1_CDP_SET_118_Q14]
1 [Option ID = 53]
2 [Option ID = 54]

3 [Option ID = 55]
4 [Option ID = 56]

AN wnN -

15) In order to assess critical thinking among students, which of the following should be choosen
by a teacher ?

(1) Open-ended questions reguiring divergent thinking.
(2
(3
(

4) Questions requiring recall of declarative knowledge only.

Questions requiring 'yes’ or ‘'no’ answers.

Questions requiring one word answers.

)
)
)
)
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(2) T 797 ST ST gF AW AT HE |
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[Question ID = 15][Question Description = CTET_P1_PART_1_CDP_SET_118_Q15]
1 [Option ID = 57]
2 [Option ID = 58]
3 [Option ID = 59]
4 [Option ID = 60]

A W N =

16) Inclusive education requires

(1) standardised curriculum
(2) promotion of stereotypes
(3) inaccessible infrastructure

(4) consideration of diversity

AHTALT Trear § et araea=+d1 g ?
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(2) =fgagars =1 FZmET
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(4) fEafaerar =1 =i

[Question ID = 16][Question Description = CTET_P1_PART_1_CDP_SET_118_Q16]

AN wnN -

1 [Option ID = 61]
2 [Option ID = 62]
3 [Option ID = 63]
4 [Option ID = 64]

17) Assertion (A) :

To address the needs of students from disadvantaged groups, a teacher should know about
their socio-cultural context.

Reason (R) :

Curriculum should be designed keeping ‘average’ student in mind.
Choose the correct option.

(1) Both (A) and (R) are true (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) Both (A) and (R) are false.



FfEaT (A) -
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[Question ID = 17][Question Description = CTET_P1_PART_1_CDP_SET_118_Q17]
1. 1 [Option ID = 65]
2. 2 [Option ID = 66]

3. 3 [Option ID = 67]
4. 4 [Option ID = 68]

18) Dyslexiais a disability.
(1) specific learning
(2) sensory
(3) behavioural

(4) motor

TS {3 TR il AT g ?

(1) sifanre Fafores
(2) AT
(3) AR

(4) TR

[Question ID = 18][Question Description = CTET_P1_PART_1_CDP_SET_118_Q18]
1. 1 [Option ID = 69]
2. 2 [Option ID = 70]
3. 3 [Option ID = 71]
4. 4 [Option ID = 72]

19) Which of the following is a typical characteristic of Autism disorder ?

(1) Impaired communication

(2) Insistence on change in routine

(3) Advance vocabulary

(4) Resistant to changes in environment
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[Question ID = 19][Question Description = CTET_P1_PART_1_CDP_SET_118_Q19]
1 [Option ID = 73]
2 [Option ID = 74]
3 [Option ID = 75]
. 4 [Option ID = 76]

A wN =

20) The needs of learners of different abilities in a class can be catered by :

(1) giving tasks of graded difficulty
(2) giving standardised instructions
(3) attending only to the needs of common learners

(4) ignoring learners having different needs

FeaT | TAfoeT amararer aver forertrat v sreasraret £ I 547 7 o 't
g2
(1) Zofierg FI3AT & F1 397
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[Question ID = 20][Question Description = CTET_P1_PART_1_CDP_SET_118_Q20]
1 [Option ID = 77]
2 [Option ID = 78]

3 [Option ID = 79]
4 [Option ID = 80]

AN wnN -

21) Learning is more meaningful when content is presented in manner.

(1) decontextualised
(2) irrelevant

(3) very abstract

(4) organised
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(1) 53T F geae

(2) AT

(3) 7g & AT

(4) TS
[Question ID = 21][Question Description = CTET_P1_PART_1_CDP_SET_118_Q21]
. 1 [Option ID = 81]
. 2 [Option ID = 82]

1
2
3. 3 [Option ID = 83]
4. 4 [Option ID = 84]

22) While teaching the concept of space; a teacher realised that students have several
misconceptions about this concept. How should she respond to this situation ?

(1) Reject those misconceptions straightaway.

3

)
(2) Explore students’ reasoning behind those misconceptions.
) Instruct students to rote memorise correct information.

)

(
(4) Eliminate those misconceptions using negative reinforcement.

FatTer T FALUTIO FHATT THT, TF FLATTH 7 Hgaw Bar & Fenfaay § ==
AT =7 @67 A7 Grivadt 2 | eAmaF Fi =9 Eata % i =47 gfatwar ger
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(1) Hrer-=fter I grivaat F1 aeFHa FAT Je |

(2) = grfea=it F wia F=tEdl % a5 T Jng’ |

(3) A== T AEr AHH F56T FIA & forg =97 347 AR |
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[Question ID = 22][Question Description = CTET_P1_PART_1_CDP_SET_118_Q22]
1. 1 [Option ID = 85]
2. 2 [Option ID = 86]
3. 3 [Option ID = 87]
4. 4 [Option ID = 88]

23) Which of the following should be considered while teaching a concept to students ?
(i) Readiness to learn among students
(i)  Socio-cultural context of students

(i) Preferred learning styles of students
(1) (i) and (ii) only

(2)(
(3)(
(@) (i), (i) and (i)

i) and (iii) only

i) and (iii} only



et v et ot sreemoon & o | Jue gu e 7 7 e A i e
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(i) TE=tET § e F o qeawar

(i) A=t = e ias 989

(iii) A=At g ==@T atgr afet

(1) F= (i) & (i)

(2) FA (i) ¥ (iii)

(3) FA (i) & (iii)

(4) (i), (ii) = (iii)
1[.Q:J<[e;[t3itci>or:1 |I|[>) ==8€;5][Question Description = CTET_P1_PART_1_CDP_SET_118_Q23]
2. 2 [Option ID = 90]

3. 3 [Option ID = 91]
4. 4 [Option ID = 92]

24) Ramesh provides opportunities to children to build new knowledge and understanding through

explorations, experiments and various practical activities while teaching science subjects. He
wants to promote

(i)  Scientific reasoning
(i) Logical thinking
(i) Rote memorisation

(iv) Passive imitation

(1) (i) and (ii) only
(2) (i) and (iii) only
(3) (i) and (iv) only
(4) (iii) and (iv) only

9T Ta= fAw=t 1 9219 789G Feagur, Y401, AT sqEgtes aiataiean 5
qUeaH | I==1 1 74T T F THA G % FAGL T2 2T ¢ | T
=l AZTAT AT ATZAT & |

(iy ST T
(iiy ATEw HHET
(i) FZeATEIr
(iv) T

(1) =T (i) ST (ii)
(2) =T (i) & (i)
(3) F4 (i) & (iv)
(4) F=T (iii) ST (iv)




[Question ID = 24][Question Description = CTET_P1_PART_1_CDP_SET_118_Q24]
1. 1 [Option ID = 93]
2. 2 [Option ID = 94]
3. 3 [Option ID = 95]
4. 4 [Option ID = 96]

25) Which of the following method adopted by teacher underestimates active role of students in
learning process ?

(1) Lecture
(2)
(3)
(4) Discovery

Engquiry

Discussions

Foreeforfre & & evvarron greT sreTE T A= Gl erfw g # Framfi
ST AT =T T FH T2 341 2 ?

[Question ID = 25][Question Description = CTET_P1_PART_1_CDP_SET_118_Q25]

1. 1 [Option ID = 97]

2. 2 [Option ID = 98]

3. 3 [Option ID = 99]

4. 4 [Option ID = 100]

26) Assertion (A):
Intrinsic motivation motivates a child to act voluntarily for his own inner pleasure.
Reason (R) :

The teacher should promote extrinsic instead of intrinsic motivation among students.
Choose the correct option.

(1) Both {A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A) is true, but (R) is false.

(4) Both (A) and (R) are false.



HTHFT (A) -
AT ATHITOT TF F=3 A A=g1 O A4t qiqrw gt % o #1979 F:1
IRF FAT S |
FTT(R) -
forers 1 AATE =Y F ATGUTT F99 F 2 97 @iy #7 ag) ="
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el e 7 |
(1) (A) &% (R) T &ET € 17 (R), (A) 5T e =TT 77T ¢ |
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(3) (A) TE1 8, @i (R) TAa 2 |
(4) (A) 8% (R) =TT T 2 |
[Question ID = 26][Question Description = CTET_P1_PART_1_CDP_SET_118_Q26]
1. 1 [Option ID = 101]
2. 2 [Option ID = 102]

3. 3 [Option ID = 103]
4. 4 [Option ID = 104]

27) Effective problem-solving requires elimination of

(1) functional fixedness
(2) divergent thinking
(3) focussed attention

(4) analogical thinking

THATITA T THET-HATHTT F BFeeh Figehaor it Ao 7=har g ?

(1) T Raear
(2) T =eae

(3) Ffvsa =T

(4) AT e

[Question ID = 27][Question Description = CTET_P1_PART_1_CDP_SET_118_Q27]
1. 1 [Option ID = 105]
2. 2 [Option ID = 106]
3. 3 [Option ID = 107]
4. 4 [Option ID = 108]

28) A student considers the reason of his failure as lack of ability and considers ability as fixed and
not-impacted by efforts. He is likely to experience
(1) learned helplessness
(2) brain plasticity
(3) high self-esteem
(4)

4) sense of belonging



uF FEEmdt a9 aOHeaar FT w0 @IS0 ARAAT HTOFHAT F AGAT | TE
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(1) ATERTH AHZTIAT

(2) i FEzraT

(3) T=A-FAT FA-ATEHAT

(4) TEESAT FT 9H
[Question ID = 28][Question Description = CTET_P1_PART_1_CDP_SET_118_Q28]

. 1 [Option ID = 109]
. 2 [Option ID = 110]

1
2
3. 3 [Option ID = 111]
4

. 4 [Option ID = 112]

29) Concepts should be presented in a way which

(1) makes students anxious about success.
(2) activates their previous knowledge and schemas.
(3) distracts them with irrelevant information.

(4) helps only students with higher learning abilities.

HAITTITAT il TH 938 & T H2AT AT g0 Al

(1) =t F whear & v = 95T F70

(2) S7F TH-5 &IT ST it el 57 |

(3) Tv AT = FHFATAT F ATAH | FA=nitia 7 |

(4) FAT F=AAL ATTH TEAAT JT =TT Fit 755 57 |

[Question ID = 29][Question Description = CTET_P1_PART_1_CDP_SET_118_Q29]

1
2
3.
4. 4 [Option ID = 116]

. 1 [Option ID = 113]
. 2 [Option ID = 114]
3 [Option ID = 115]

30) Declarative knowledge :

(1) explains the procedure of occurrence of a phenomenon.

(2) explains understanding about use of strategies.

(3) is mainly about knowing ‘what’ and ‘which’ aspects of knowledge.
(4) has no role in problem-solving process.



(1) T =z & =iea grer &t wiewar ST =mear #3471 8 |
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[Question ID = 30][Question Description = CTET_P1_PART_1_CDP_SET_118_Q30]
1. 1 [Option ID = 117]
2. 2 [Option ID = 118]

3. 3 [Option ID = 119]
4. 4 [Option ID = 120]

Topic:- MATH_Q31-45_P1_S3_CTET
1) Alibrary has 5690 books. 425 books were issued to students on Monday and 273 new books
were deposited in the library on the same day. What is the number of books now present in the
library ?
(1)5842
(2)5822
(3)5538
(4)5558

TF TEAH T § 5690 TH+ ¢ | Tmar & 39 F=nfay #i 425 Fa% 9249 &
form =t 12 oz o =9 273 72 A e § A A TS | geaad § a9
et e 2 ?

(1) 5842

(2) 5822

(3) 5538

(4) 5558

[Question ID = 31][Question Description = CTET_P1_PART_2_MATHS_SET_118_Q31]
1. 1 [Option ID = 121]
2. 2 [Option ID = 122]
3. 3 [Option ID = 123]
4. 4 [Option ID = 124]

1 .
2) How many —= are therein -1 ?

(16
(2)4
(3)9
(4) 12



'I = - 1 -
3 H AT 5 82
(1)6
(2)4
(3)9
(4)12
[Question ID = 32][Question Description = CTET_P1_PART_2_MATHS_SET_118_Q32]
1. 1 [Option ID = 125]
2. 2 [Option ID = 126]

3. 3 [Option ID = 127]
4. 4 [Option ID = 128]

3) A number is larger than half of 80. It is more than 4 tens and less than 6 tens. The sum of its
digits is 6. Its tens digit is double the ones digit. What is the humber ?

(1)46
(2) 51
(3)60
(4)42
T HEAT 80 F AT F AT 2 | TZ 4 T F ATAF AT 6 TJE T FH ¢ | T
ST HT AATEA 6 2 | THHT TgTe FT AT T & A FI QAT 2 | TZ TATFTE

?

(1) 46
(2) 51
(3) 60
(4) 42

[Question ID = 33][Question Description = CTET_P1_PART_2_MATHS_SET_118_Q33]
1. 1 [Option ID = 129]
2. 2 [Option ID = 130]
3. 3 [Option ID = 131]
4. 4 [Option ID = 132]

4) The sum of all the factors of 96 is
(1) 260
(2) 246
(3)252
(4)248



96 *F AT [IAETST T TTFHA 2

(1) 260
(2) 246
(3) 252
(4) 248

[Question ID = 34][Question Description = CTET_P1_PART_2_MATHS_SET_118_Q34]
1. 1 [Option ID = 133]
2. 2 [Option ID = 134]
3. 3 [Option ID = 135]
4. 4 [Option ID = 136]

5) Which of the following is the smallest number ?

(1)5:9853 x 10°
(2)6-595 « 10°
(3)3:43 % 10°

(4)7-004 « 10°

Teafertera § O 799 Gl Jedr FF-91 g ?
(1)5-9853 « 10°

(2)6:595 « 10"

(3)3:43 x 10°

(4)7-004 » 10°

[Question ID = 35][Question Description = CTET_P1_PART_2_MATHS_SET_118_Q35]

1. 1 [Option ID = 137]

2. 2 [Option ID = 138]

3. 3 [Option ID = 139]

4. 4 [Option ID = 140]

6) In which of the following divisions, will the remainder be more than the remainder you get when
you divide 176 by 3 ?

(1)173+3
(2)174+4
(3)175+3
(4)176+2



freafofaa & 7 B B |, oo 99 afdgs grm st &g 176 &1 3 &
et F7 o7 are F2a 2 ?

(1)173+5
(2)174+4
(3)175+3
(4) 176+ 2
[Question ID = 36][Question Description = CTET_P1_PART_2_MATHS_SET_118_Q36]
1. 1 [Option ID = 141]
2. 2 [Option ID = 142]

3. 3 [Option ID = 143]
4. 4 [Option ID = 144]

7) When a rectangle is rotated about the centre of the rectangle, it looks exactly the same at the
following angle of rotation :

5 UF AT T THH Fex & U0 THET SET g, 91 9g e 9o #rr 0w
g ager ST REE [T

(1) 60°
(2) 90°

(3) 180°

(4) 2700

[Question ID = 37][Question Description = CTET_P1_PART_2_MATHS_SET_118_Q37]
1. 1 [Option ID = 145]

2. 2 [Option ID = 146]

3. 3 [Option ID = 147]
4. 4 [Option ID = 148]

8) How many lines of symmetry does a rhombus have ?
(M0
(2)2
(3)4
(41



T THATES BT (hadt GHHd @ gl g 2

(1)0

(2)2

(3)4

(4)1
[Question ID = 38][Question Description = CTET_P1_PART_2_MATHS_SET_118_Q38]
1 [Option ID = 149]
. 2 [Option ID = 150]

3 [Option ID = 151]
. 4 [Option ID = 152]

A w N =

9) Medha measures three angles as 1087, 75% 90° in her notebook. Which of the following is
correct if she categorises these angles in the given order below ?

(1) Obtuse angle, Acute angle, Right angle

(2) Acute angle, Obtuse angle, Right angle

(3) Obtuse angle, Supplementary angle, Right angle
(4) Supplementary angle, Acute angle, Right angle

YT F AAAT HIAT F F9 F0r 108°, 750, 90° F =T F HIT | AR &g Z7 F0il
e =7 7 F77 9 =i F2dr g, 97 efafed § F fE-ar a2 g ?

(1) &t 10T, =7 HI0T, FAHT

(2) =17 0T, SATEH FHI0T, THAHOT

(3) ATE FT0T, FFLTH FIOT, THHIT

(4) T FT0T, =L FHI0T, FTHHT
[Question ID = 39][Question Description = CTET_P1_PART_2_MATHS_SET_118_Q39]
. 1 [Option ID = 153]

. 2 [Option ID = 154]

1
2
3. 3 [Option ID = 155]
4. 4 [Option ID = 156]

10) A wire is bent in the form of a rectangle whose perimeter is 20 cm. The same wire is again bent
to form a square. What will be the area of this square ?
(1)20 em’
(2)25ecm’
(3)30 cm’
(4)32em’



TF qT7 HT HIEHT T AT I 747 fSre=mm w117 20 em g | I 917 %7 {57
T HISHT UF 33 FATAT ST | T q97 T A% F4T AT 2

(1) 20 em’
(2) 25 cm®
(3)30 cm”
(4)32 cm”

[Question ID = 40][Question Description = CTET_P1_PART_2_MATHS_SET_118_Q40]
1. 1 [Option ID = 157]
2. 2 [Option ID = 158]
3. 3 [Option ID = 159]
4. 4 [Option ID = 160]

11) Look at the following table :

Station Train 1 Train 2 Train 3

Patha (Departure) 17:42 20:45 21:10

Kolkata (Arrival) 3:32 5:15 6:55

(next day)

Which train takes the least time to reach Kolkata from Patna ?

(1) Train 1

(2) Train 2

(3) Train 3

(4) Both Train 1 and Train 3 take equal time
EZIT T 1 e 2 el 3
TaAT (THTH) 17:42 20:45 21:10
FrAHTET (AHE)  3:32 5:15 6:55
EUERES))
FAA-HT TATMTST TEAT H FIAHTAT Tgad H FIH FH THT @Al g ?
(1) ¥ET 1
(2) ToIET 2
(3) ¥ IET 3

(4) =TT TERTTET 1 A% Y9I 3 HHTH HHT A1 2

[Question ID = 41][Question Description = CTET_P1_PART_2_MATHS_SET_118_Q41]
1. 1 [Option ID = 161]
2. 2 [Option ID = 162]
3. 3 [Option ID = 163]
4. 4 [Option ID = 164]



12) 800 em+80m+8 km=
(1)88 m
(2) 8008 m
(3)888 m

(4) 8088 m

800cm+80m+8km=

(1)88 m
(2) 8008 m
(3)888 m
(4)8088 m

[Question ID = 42][Question Description = CTET_P1_PART_2_MATHS_SET_118_Q42]
1. 1 [Option ID = 165]
2. 2 [Option ID = 166]
3. 3 [Option ID = 167]
4. 4 [Option ID = 168]

13) A drum contains 263 L 520 mL of oil. This oil is filled into 45 containers each of equal size.
How much oil is there in 25 such containers ?
(1)144-6 L
(2) 146-4 L
(3)142-8L
(4) 150-5 L

T gT H 263 L 520 mL 597 2 | T I 7 TH 2T AT % 45 Faai 9 G97 Sav
T | U 25 FAA1 | T (e AT Je gIT 2
(1) 1446 L
(2) 1464 L
(3)142-8 L
(4)150-5 L
[Question ID = 43][Question Description = CTET_P1_PART_2_MATHS_SET_118_Q43]
1.1 [Option ID = 169]
2. 2 [Option ID = 170]

3. 3 [Option ID = 171]
4. 4 [Option ID = 172]



14) The rate list of spices is given below :

Spices Price per kg
Coriander 270
Cloves 550
Cumin 190
Cardamom 9350
Black pepper 7480

Which of the following is nefcorrect ?

1) Cardamom'’s price (per kg) is five times of cumin’s price (per kg).
2) Coriander’s price (per kg) is almost half of clove’s price (per kg).
3) Clove's price (per kg) is exact three times of cumin’s price (per kg).

(
(
(
(4) Clove's price (per kg) is only Z 70 costlier than price of black pepper (per kg).

HATAT T ToT-HAT AT &1 TE 3 -
T g7 917 kg
et 3 270

T 3 550
ST 3190
AT 3950
Tl W= 3480
Feaforfas § 7 Fm-a7 921 7gi e ?

(1) 9 kg, TATIHT FT T ST F JoF FT T(= A7 2 |
(2) of kg, af==T 1 o ST 5 qoF T T AT 2 |
(3) 9 kg, T T T FT % ToF FT T A4 AT ¢ |
(4) 9T kg, T oAt 7= 7 Faer I 70 g1 ¢ |
[Question ID = 44][Question Description = CTET_P1_PART_2_MATHS_SET_118_Q44]
1. 1 [Option ID = 173]
2. 2 [Option ID = 174]

3. 3 [Option ID = 175]
4. 4 [Option ID = 176]



15) Study the following pattern :
1x1=1
1111 =121
111x111=12321

What is the number of digits in 11111%x111117?

11=11 =121
111111 = 12321

11111 = 11111 3 &=t F¥ F=ar 7§ 2
(nr
(2)8
(3)8
(4)10

[Question ID = 45][Question Description = CTET_P1_PART_2_MATHS_SET_118_Q45]
1. 1 [Option ID = 177]
2. 2 [Option ID = 178]
3. 3 [Option ID = 179]
4. 4 [Option ID = 180]

Topic:- MATH_Q46-60_P1_S3_CTET

1) Which of the following statements is least appropriate about the use of heuristics in a
mathematics classroom ?

(1
(2
(3
(4

It can be understood as the study of means and methods of problem salving.
It can be visualized as rules of thumb.

It refers to experience-based technigues for problem solving.

T e e St

It cannot be used in complex novel problems.



feaforfaa g+t § 7 Fr9-a1 T0E Far 7 =g 0es (3T 9gT) F ST &

F H T99 FH ITIFT g ?

(1) T FHEIT AHTETT F ATIAT 3T IO & FeqT % =9 § THAT ST THAT
g

(2) zeht ffera ==t & =7 °§ Foaar it ST awar g |

(3) Tg THEAT HHIAT F {17 A aa-STamia aha =l F Ieed FTar g |

(4) Sfeer AT THETAT F THFT SUANT Ag1 af JFdT g |

[Question ID = 46][Question Description = CTET_P1_PART_2_MATHS_SET_118_Q46]

1. 1 [Option ID = 181]

2. 2 [Option ID = 182]

3. 3 [Option ID = 183]

4. 4 [Option ID = 184]

2) While teaching shapes, a teacher brought a model of a city to her class that was made of

geometric shapes. She wanted her students to

(1) have some leisure time while identifying geometric shapes in the model.
(2)
(3)
(4)

4) understand the role of models in mathematics.

link mathematical concepts to various other disciplines and their daily lives.

make more such models that can be presented in a math exhibition.

FTHTAT T 1900 A g, U TSR g T HISA/MTET FUAT FAT H AT
TS ST SATHATT AT 7 Hga or | g =gy 2 B g9 =t

(1) Hi=e F SATCHATT STFAAT T T Fid g0 % ATl T80 faaqr
(2) T sEgToet i AtS= avr Fug-gen g a9 59w 26 E Sem T

(3) T & wTEa/AiEe (Hia &< 5 B 9o £t wgeet § wsiee G sras
(4) IO F JrEAi/ATS Al G A

[Question ID = 47][Question Description = CTET_P1_PART_2_MATHS_SET_118_Q47]

1. 1 [Option ID = 185]

2. 2 [Option ID = 186]

3. 3 [Option ID = 187]

4. 4 [Option ID = 188]

3) Which of the following is one of the main goals of mathematics education according to National

Curriculum Framework, 2005 ?

(1) Developing numeracy skills in learners,

(2)

(3)
)

(4) Mathematisation of child’s thought processes.

Creating employable adults for the country.
Asking every child to solve textbook problems in a mathematics classroom.



TTET BT AT =ET, 2005 % AT W toiad § 7 F-a71 T 90T #57

qT 8T g ?

(1) ATERTHFATAT H TaTem a1 HI97e FT =57 F997 |

(2) 391 F o TISHTE-T0 FAERT 37 9 F7AT |

(3) IO FEAT H WeAs o=+ &l TAIgEA® H A Tg AHEATY A FAA 6 [0
FgAT |

(4) F==1 = A= aiwars w1 T e |

[Question ID = 48][Question Description = CTET_P1_PART_2_MATHS_SET_118_Q48]

1. 1 [Option ID = 189]
2. 2 [Option ID = 190]
3. 3 [Option ID = 191]
4. 4 [Option ID = 192]

4) Which of the following is most appropriate for Ms. Somi, a mathematics teacher, to include in
her classroom discussion for enhancing critical thinking skills among the learners ?
(1) List all the prime numbers between 25 and 30
(2) Compute 37+21
3) Draw all possible rectangles with area 18 em’
)

(
(4) Draw an equilateral triangle with length of each side as 6 cm

T &t wE ferterET, Wit |/ F o, aftnmmarar § aeEaens Had ®
FITA FT TETAT 39 % 00, HeArergg 3 F FiA-a1 d9+1 FApt 9t==r J
STTTReT FeAT FH IILFT £ 2

(1) 25 30T 30 & &= #T T TATST HEATHA FT TAEAZ F7

(2) 37+21 =T TFAT FY

(3) 18 cm” Ersrer =TT WY TN FIAA FATT

(4) 7% THaETg Brae a9 S o Ge #i @91s 6 om 2

[Question ID = 49][Question Description = CTET_P1_PART_2_MATHS_SET_118_Q49]
1. 1 [Option ID = 193]
2. 2 [Option ID = 194]

3. 3 [Option ID = 195]
4. 4 [Option ID = 196]



5) It has been found that if a word problem is given to primary grade learners most of them would
say, “If you tell me what operation is required in the question then | can solve it.”
Which of the following is the most appropriate reason for the above situation ?

(1) Children find mathematical language to be too technical and not reinforced through their
everyday language.

(2) Word problems are generally too difficult to be solved by primary grade learners.

(3) Children usually make excuses to solve word problems.

(4) Only those children who are weak in english language face this type of issue in word
problems.

IT: T 397 74T 2 T ot v = ¥ foranteiat 1 ganeedl 7are g9 7 &
o T30 ST 8, ATATer 5== Fgd & &, ‘g% &y g4 I Fam {6 39 947 §
FHTF-HT HFAT ATTET g, T ZH ZH T HT g HL AHeA g |”

= Togfa % form Faifas Sugsa w10 F9-a1 2 2

(1) F==T FT AT 9T G qEA e (qETew/aTEtEE) @t g S
A+ RA-gfafEe F Siraq T 99 F 90 F F 438 dgl A1 S§rdv |

(2) AEHTT 9T TATTAT TATA ATATHF 742 5 TAAT G0 g7 g7 Fve & fory agd
AEIEREAL A

(3) ATHTIE: = TATLAT TITA g F4d & 110 qg-a%g & Jgrd Ia7d ¢ |

(4) ST == AT ATIT H FHAL ¢, T Iral a=a1 Tl AT TAT gef Fied §
TH dYg Hl FoATE grav g |

[Question ID = 50][Question Description = CTET_P1_PART_2_MATHS_SET_118_Q50]

. 1 [Option ID = 197]

. 2 [Option ID = 198]

1
2
3. 3 [Option ID = 199]
4. 4 [Option ID = 200]

6) A primary grade student solves the question on subtraction in the following way :
101

101-97="27 =096
096

Which of the following is most appropriate for the given situation ?

(1) The child has conceptual understanding of subtraction but has made a careless error.
(2) Solving similar questions would definitely lead the child to the correct answer.

(3) The teacher should write the correct algorithm on blackboard to solve the problem and the
child should copy it.

(4) The child has incorrectly used the rule of subtracting the smaller digit from the bigger digit.



T GTTH HEAT T =T Zraerers 97 999 1 F{eT =T H g AT 2
101

101 -97 =27 =096
096

FeAforias § § F9-A7 37 75 af ety & o aaiies S0ged g 2

(1) T=F FT =AFAT Hl ATATOMHF THH 2 Toq I97 A Ffe FA=HLTH AT
L
(2) FHTT THIT & T9FT T g F2AT1 (q150q =7 7 =+ Fl Ggf 907 q% o ST
|
(3) forer= =1 THEAT g T & U Az uw wEr Fea-taty e 3iEn
T == &l IAHT A% HAT AT |
(4) =9 7 T &F H A P dAF F T2 F FIT Toq T2 T 0q91 ()
[Question ID = 51][Question Description = CTET_P1_PART_2_MATHS_SET_118_Q51]
1. 1 [Option ID = 201]
2. 2 [Option ID = 202]

3. 3 [Option ID = 203]
4. 4 [Option ID = 204]

7) A child in a primary mathematics class says that :
“I have 3 pencils”, “| have 5 coloured pens”, “| have 1 sister”.
The child is referring to
(1) Numerals
(2) Cardinal numbers
(3) Ordinal numbers

(4) Nominal numbers

T FA=AT 0T 1 IrTF AT § Fgar g &
‘G 3 Ufae & Iy am 5 i i g, 9 1 a2l
F=aT (e Hae § A1d FT LG8 ?

(1) =i
(2) T FHeE

(3) FHTFT HEAT
(4) st T

[Question ID = 52][Question Description = CTET_P1_PART_2_MATHS_SET_118_Q52]
1. 1 [Option ID = 205]
2. 2 [Option ID = 206]
3. 3 [Option ID = 207]
4. 4 [Option ID = 208]



8) Which of the following describes the correct sequence to be followed in Data Analysis ?
(1) Organizing, sorting, collecting and representing.
(2) Sorting, organizing, collecting and representing.
(3) Collecting, sorting, organizing and representing.

(4) Representing, organizing, sorting and collecting.

(= 8 e e e e 11 P 1 2 e o e oo e e 2 ) e PR B 0 o e s e 1
TIE?

(1) AT F7AT, AT, THHT FAT AT FET0r F7A7 |
(2) FEAT, FTEIT FIAT, THAT HLAT AT [F=q07 FHTAT |
(3) TETT FLAT, FIEAT, AT T FIAT A7 =T FTAT |
(4) =007 F7A7, ST F2AT, FGizAT AT THAT FAT |

[Question ID = 53][Question Description = CTET_P1_PART_2_MATHS_SET_118_Q53]
1. 1 [Option ID = 209]
2. 2 [Option ID = 210]
3. 3 [Option ID = 211]
4. 4 [Option ID = 212]

9) Which among the following is/are the most important features of a good mathematics textbook
for primary classes ?

(a) Presents concepts in a deductive manner

(b) Presents concepts in an interactive and contextual manner

(c) Includes more solved examples and activity based assessment
Choose the correct option :

(1) (a) and (c)
(2) Only (b)
(3) Only (c)
(4) (b) and (c)



Feaforfea § & arafees sara 5 ©o s a==gt 7o TeagEs it qaig

qg=A AT/ F-/AE-A 2/ ?

(a) THTH=T= T80T T AFEATIOMT qeqd HeAT

(b) TATATHT ¥ HEATHF T o AFTLATLONY T FeAT

(c) T« Trm gu asrfdes I=Tgaor &iT wiatAfer sramiea amre aiEAtaT
FIAT

el Tashed T =4+ o :

(1) (a) & (c)

(2) F (b)

(3) FA (c)

(4) (b) ¥ (c)
[Question ID = 54][Question Description = CTET_P1_PART_2_MATHS_SET_118_Q54]
1. 1 [Option ID = 213]
2. 2 [Option ID = 214]

3. 3 [Option ID = 215]
4. 4 [Option ID = 216]

10) According to National Education Policy (NEP) 2020, which of the following is an urgent and
necessary pre-requisite to learning ?

(1
(2
(3
(4

Sports and physical health
Foundational literacy and numeracy

Developing counting skills

L e s L

Education for all

TTeEr foreT Fifa (NEP) 2020 F #qAW Medteriad § F Fia-AT qia/a e
F TorT U deamaeT® e AHATd TEeT g 2

(1) & 3T g F=TeeT

(2) FAATT FTATAT TH HAT-HT (FATeHHAT)
(3) T Frerer T FAT

(4) =t = form o

[Question ID = 55][Question Description = CTET_P1_PART_2_MATHS_SET_118_Q55]
1. 1 [Option ID = 217]
2. 2 [Option ID = 218]
3. 3 [Option ID = 219]
4. 4 [Option ID = 220]



11) Which of the following is most appropriate for developing children’s reasoning and logical
thinking abilities in mathematics ?

(1) Use of close-ended questions

)
(2) Use of standard algorithms
3) Memorization of formula, facts and multiplication tables
)

(
(4) Use of open-ended questions

T § F==1 & ﬁawﬁmﬁ?ﬁmﬁmmwﬁﬁ?ﬁﬁmmﬁu

Feaforfad § & F9-97 qaiias 37 2 2
(1) 5= T8 ATl T9HT T ITAN
(2) 7T FAa-Tater &7 I
(3) TAT, T 3T TETEST AT T FTAT
(4) TA-THE AT (FHTT) T HT ITAET
[Question ID = 56][Question Description = CTET_P1_PART_2_MATHS_SET_118_Q56]
1. 1 [Option ID = 221]
2. 2 [Option ID = 222]

3. 3 [Option ID = 223]
4. 4 [Option ID = 224]

12) Following is the conversation between two pre-service teachers regarding their school

experience of mathematics :
A : I was quite good at mathematics at school but | am frightened of going back to teach it

because | think | have forgotten most of what | learnt.
B : | got through examinations by simply learning the rules, facts and procedures.

Which of the following is most appropriate for the given situation ?
(1) Both were careless towards mathematics in their childhood.
(2) Both have overcome the fear of mathematics.

(3) Both were encouraged in their childhood to learn by rote, without understanding.
(4)

4)*A’ is incapable of becoming a good mathematics teacher but ‘B’ is capable as she/he
performed well in examinations.



= 3 qA-TAT TIrAEAT 1 A0 % AT Tl dqad & a1 | g1 7g 9A1s

T T [RAT AT -

A : FT et S § # i | wga =g A 97 o= g2 98 Aug 1w |

T T AT @ TZT 2 FIh FH A@0dr g =6 A9 o Feg A7 Hram 47, I 959 9

T o T E

B : A9 AT AUHT THAT Ty [HAAT, TEAT AT TORATAT 7 ATT FH7sh T09 1 2 |

7 R E-A U LU e o e e O = B o e B o TR s e 2 -

(1) FTT & O F=IT H AT F AT T ATTLATE TR E

(2) =1 7 gF i & wiq o 9w wr g w7 R g

(3) FAT AT 2T AT F=IT H &A1 FHA AT AT g F W rewrigd Ear
TATE |

(4)'A" wfora ¥ F=L AT AATIHYALATTH FA I0T T51 & 797q ‘B’
A=/ A=IT AT/ T AT & FH10 I T & agav v=ei=
=T g |

[Question ID = 57][Question Description = CTET_P1_PART_2_MATHS_SET_118_Q57]

1. 1 [Option ID = 225]

2. 2 [Option ID = 226]

3. 3 [Option ID = 227]
4. 4 [Option ID = 228]

13) Which of the following is a feature of a child-centered mathematics classroom according to

National Curriculum Framework, 2005 ?

(1) A teacher demonstrating an activity on area of rectangle while students are silently

listening and watching.

(2) A teacher brings in a variety of concrete material and manipulatives in a2 classroom for

students to use them for various explorations in ‘numbers’.

(3) A teacher reciting multiplication tables in a classroom and students are repeating them in a

chorus.

(4) A teacher solves a model problem on the blackboard and the students are solving textbook

guestions based on it.



T qET=EAT ®ET, 2005 F AqAe AerEd 7 wE-A ar-hied
Tfore Fem it TF Fauar g 2

(1) forers amaq & S 9% UF TAAE #w7 I=49 w2 g 8 7 39 e
A sq e F {7 @ 3T 2 2
(2) foreas wear & Fenfi=t & fow A e 1 99 9l @ geasiea
AT ATAT 2 AT o IR0 ITANT Hegqrar § == aeaao F o w7
GE
(3) forersh T T TETST T T=AT0 FX T ¢ A ==t It v &= § [
e
(4) foreqs qaTTg 9T UF A=l AHEAT g FAl g AT A=l 39 97 Arantid
UrEIETE § RU T g9 g wT I |
[Question ID = 58][Question Description = CTET_P1_PART_2_MATHS_SET_118_Q58]
1. 1 [Option ID = 229]
2. 2 [Option ID = 230]

3. 3 [Option ID = 231]
4. 4 [Option ID = 232]

14) According to National Curriculum Framework, 2005, a mathematics teacher is expected to

(1) challenge the talented while ensuring the participation of all children in 2 mathematics

classroom
(2) solve all textbook questions
(3) improve results in mathematics by engaging students in drill and practice of questions

(4) prepare students for competitive examinations

TTCET OT5= AT 9@, 2005 F AFGETe, U T107a (979 F Juteqd g

(1) IO T § FATET F=41 HT I9% T AGHA AT T F2d g0 T
=1 T FFATRET AT 2T

(2) ITEITET T & AAT AT HT g HLAT
(3) 79T = e 1T goqe | Ta=mfaay &7 S| @ gu aira | TiomEt

(4) staTrers girear & o Fenten w5 dae w7 r

[Question ID = 59][Question Description = CTET_P1_PART_2_MATHS_SET_118_Q59]
1. 1 [Option ID = 233]
2. 2 [Option ID = 234]
3. 3 [Option ID = 235]
4. 4 [Option ID = 236]



15) Mr. Rana, a primary grade mathematics teacher asked his students the following question :
“Subtract 5 tens from 5 hundreds.”
One of the students promptly responded, “the answer is O (zero)".
Which of the following is most appropriate with respect to the given situation ?
(1) The teacher has wrongly presented the guestion to the class.
(2) The teacher should give 10 similar problems to practice till the student solves it correctly.
(3) The teacher should simplify the problem so that the student can solve it correctly.
(4) The teacher should ask the student to explain his/her answer to identify the misconception.
AT e & o forerss oft T 7 Foe et 7 FeaterfET gow 1ar
“5 f%c H T 5 T4 92T |”
uF fEEmfi 7§ qerear ¥ I= RAEr S=e 0 () 7
et & & -7 27 ¢ i & d=e § "aiies g g ?

(1) Tor&TeF 7 84T F FHA TAd o0 °H T Toqd (AT 2 |

(2) forer= =T THT 10 (39) T FHEATE FETH F (o0 367 FM0 5 9% H=di
TH Tal T g dal wL od |

(3) forersr =1 FHAT &7 AL FLAT ATRT qTie0 T2 30 921 & g FT 7ah |

(4) gifa gg=m & Torm forerss =1 E=mdi & qo 39T &t a9 F T wigarn

TR |

[Question ID = 60][Question Description = CTET_P1_PART_2_MATHS_SET_118_Q60]
1 [Option ID = 237]
2 [Option ID = 238]
3 [Option ID = 239]
4 [Option ID = 240]

A W N -

Topic:- EVS_Q61-75_P1_S3_CTET

1) There is a State in our country where after finishing their crop-related work the villagers
celebrate. They get together to cook and eat, sing and dance. They do their special cheraw
dance in which people sit in pairs in front of each other holding bamboo sticks on the ground.
As the drum beats, the bamboo are beaten to the ground and the dancers steps in and out of
the bamboo sticks and dance to the beat. This State is

(1) Mizoram

(2) Jharkhand
(3) Assam

(4) Chhattisgarh



THTE Z9T H T UAT IS § Sl F ATHIT ART FA A THel % TS A G HATH §
| = /T FTHT TH1T 2, @14 g, Td g AL q79d g | TgT 0 3907 7 7 2 |
T oA F AT 6T SUST T ZI-E0 AR hT SITET SHIA T AHA-ATHA S5T © |
&Il 0 910 TC AT 19 T SEaT T SHA 9% died 2 | 919 i Sear F o=
AT TS FdT¥ § @ 7 T3 ¢ A% 71=q g | Tg T g

(1) Fstres
(2) AATTETE
(3) 3w
(4) TR

[Question ID = 61][Question Description = CTET_P1_PART_3_EVS_SET_118_Q61]
1. 1 [Option ID = 241]
2. 2 [Option ID = 242]
3. 3 [Option ID = 243]
4. 4 [Option ID = 244]
2) Consider the following statements about “Khejadi” tree :
A. This tree is found mainly in desert areas.
It does not need much water to grow.
lts bark is used to make medicines and its wood is not affected by insects.

Its trunk can store water and the people use thin pipe to drink it.

mpooew

It is not a shady tree.
The correct statements are
(1)A,BandC
(2)B,CandD
(3)C,DandE
(4)A,DandE



B 7 AT AT T et o frr A

A.  TE T AT TR SH | T ST g

B. =0 dgq % o rfer reit 1 eraem=ar gl ¢ |

C. THH! TTA TATE a1 = FIH ATl ¢ AT THHL AHE! Dl el 9f Agl
AATE |

D. &% A9 | 9T UHA 2rar g o @7 Iaelt argd g7 91 2 |

E. g ¢ ITER T € |

TAH TR AT

(1)A, B#wC

(2)B, C @@= D

(3)C,DHTE

(4)A, DETE

[Question ID = 62][Question Description = CTET_P1_PART_3_EVS_SET_118_Q62]
1. 1 [Option ID = 245]
2. 2 [Option ID = 246]
3. 3 [Option ID = 247]
4. 4 [Option ID = 248]

3) Select a group of three petroleum products from the following :

(1) Wax, Coal tar, Grease
(2) Paint, Plastic, Rayon
(3) LPG, Coal tar, Ethanol

(4) Kerosene, Diesel, Methane

freforfaa 7 i 9o SeEt & T9g B M0

(1) 5, oA, Wi

(2) e, wATivEE, T

(3) Ter d1.SAT., FiearT, TAA
(4) Frae, o, 74

[Question ID = 63][Question Description = CTET_P1_PART_3_EVS_SET_118_Q63]
1. 1 [Option ID = 249]
2. 2 [Option ID = 250]
3. 3 [Option ID = 251]
4. 4 [Option ID = 252]




4) An advocate is located at ‘X’ and the court is located at “Y’, There is no straight road from the
advocate’s house to the court. So the advocate first goes to A which is 100 m due East of X,
then to B which is 500 m due South of A, then to C which is 50 m due West of B and finally
reaches the court at Y which is 60 m due North of C. With respect to the court the direction of

the advocate’s house is
(1) North-East

(2) North-West

(3) South-East

(4) South-West

et meaTre FT AT X 9T g AT A Y o7 Ry B | UEATe & 7§ e 9
FRmARE Tl s T8 2 | 9. TEaae TEA AT Fd g X FHF 13 |
100 m T T 97 g, = ag B 9= &1a € &1 A % 3 Zfamr & 500 m Fi1 T 72
M RECT I e MBFIF T TS0OmMA I Wegdraadag Y
T FHE UgAd g 91 C F 3 9T H 60 m N T I | HE % AT TZATHe
gL H fRaT g

(1) Se-d

(2) TEE-TTaH
(3) =fRmr-T
(4) sferr-afay

[Question ID = 64][Question Description = CTET_P1_PART_3_EVS_SET_118_Q64]
1. 1 [Option ID = 253]
2. 2 [Option ID = 254]
3. 3 [Option ID = 255]
4. 4 [Option ID = 256]

> A boy boarded a train on 12" September, 2022 at Valsad for Nagercoil. The train departed
from Valsad at 17:30 hours and reached Nagercoil at 05:00 hours on ‘14ih September, 2022. If
the distance covered by the train during this time interval is 2059 km, the average speed of the
train is
(1) 52 km/h
(2) 56 km/h
(3) 58 km/h
(4) 62 km/h



Fle ASHT AMHTE T AMLHITA T & 7 12 FEeaw, 2022 F:1 7% o § 7997
TAT | A 29 17:30 A @A | FaH7 14 A=z, 2022 F7 05:00 75
TS TgA T | TS T8 THT FAT0A § o7 g7 Fot 747 47 2059 FHFarHies 2,
T & Y SaT AT g

(1) 52 km/h
(2) 56 km/h
(3) 58 km/h
(4) 62 km/h

[Question ID = 65][Question Description = CTET_P1_PART_3_EVS_SET_118_Q65]
1. 1 [Option ID = 257]
2. 2 [Option ID = 258]
3. 3 [Option ID = 259]
4. 4 [Option ID = 260]

6) Which of the following options are projects/missions to clean Ganga water ?

(1) Jal Shakti, Namami Gange
(2) Ganga Amantran Abhiyan, Jal Shakii
(3) National Mission for Clean Ganga, Ganga Action Plan

(4) Namami Gange, Yamuna Action Plan

feafofaa § & FE-H7 ey TS ==y w0 F o uw EEer
g ?
(1) st erf=r, FRTH T
(2) TR SATHFT ATHAT, A 9T
(3) TTEETT F=ag T THY, T UF T
(4) FHTTH 33, THAT TFAT AT
[Question ID = 66][Question Description = CTET_P1_PART_3_EVS_SET_118_Q66]
1. 1 [Option ID = 261]
2. 2 [Option ID = 262]

3. 3 [Option ID = 263]
4. 4 [Option ID = 264]

7) Select from the following groups of foods the group containing all items which are rich source
of proteins.
(1) Eggs, Pulses, Fish
(2) Almonds, Maize, Milk
(3) Orange, Butter, Eggs
(4) Curd, Milk, Rice



Ao & Fetorag a9gt 8 o 39 T9g &1 999 Hioy s a6t eFre TeH
Tz AT 2 |

(1) &<, 3T, FFAT

(2) FT=TH, HET, TH

(3) FAT, HFEA, e

(4) =21, 74, =TT

[Question ID = 67][Question Description = CTET_P1_PART_3_EVS_SET_118_Q67]

1 [Option ID = 265]

2 [Option ID = 266]

3 [Option ID = 267]
. 4 [Option ID = 268]

A W N =

8) Select from the following a pair comprising one State and one Union Territory of our country.

(1) Arunachal Pradesh and Puducherry

(2) Jammu and Kashmir and Andaman and Nicobar Islands
(3) Mizoram and Jharkhand

(4) Bihar and Nagaland

fAeaferiaa 5 | a8 e TR0 S gH1C 390 F TF TS /T UF Hex O I15a
q s am T 2 |

(1) FEoTT= T4 AT g0

(2) 7= 317 F9HT A7 AEA™ T [FrEm 5T9H g
(3) AT T ATTETE

(4) T&ETT 4T AnrTee

[Question ID = 68][Question Description = CTET_P1_PART_3_EVS_SET_118_Q68]
1. 1 [Option ID = 269]
2. 2 [Option ID = 270]
3. 3 [Option ID = 271]
4. 4 [Option ID = 272]

9) Select from the following a group of States having coast on the Bay of Bengal :

(1) Andhra Pradesh, Odisha, Tamil Nadu
(2) West Bengal, Odisha, Karnataka

(3) West Bengal, Tamil Nadu, Gujarat
(4) Tamil Nadu, Odisha, Maharashtra



feafores 5 & et % 39 a4 F g0 {Sas aqzdas S SrEEi 9wy
(1) &ATer w=9r, AT e, AT
(2) FT%TT =TT, AT, FAEF
(3) Tf%r =TT, ATHAATE, [0
(4) afgeaTg, AT, 9greTs
[Question ID = 69][Question Description = CTET_P1_PART_3_EVS_SET_118_Q69]
1. 1 [Option ID = 273]
2. 2 [Option ID = 274]

3. 3 [Option ID = 275]
4. 4 [Option ID = 276]

10) Three neighbouring States of Madhya Pradesh are

(1) Uttar Pradesh, Chhattisgarh, Maharashtra
(2) Gujarat, Rajasthan, Bihar

(3) Uttar Pradesh, Rajasthan, Jharkhand

(4) Gujarat, West Bengal, Odisha

HE T297 % A1 FHITEAT 759 2

(1) IO 9341, GTAIE, HZTAEE
(2) I, TrerEdTe, fagre

(3) ST TR, TAEATH, STATTETS
(4) ST, TS ST, AT

[Question ID = 70][Question Description = CTET_P1_PART_3_EVS_SET_118_Q70]
1. 1 [Option ID = 277]
2. 2 [Option ID = 278]
3. 3 [Option ID = 279]
4. 4 [Option ID = 280]

11) Which of the following diseases are caused by mosquitoes ?
A.  Pneumonia
B. Dengue
C. Measles
D. Malaria

Choose the correct option :
(1)A and B
(2)BandC
(3)BandD
(4)AandD



feaforfes 5 7 F9-8 T g=971 5T Fiba g ?

A. TR

B. =T

C. @HT0

D. Herrear

el faseT 71 =247 ST
(1)AsTB

()BT C

(3)B T D

(@)A D
[Question ID = 71][Question Description = CTET_P1_PART_3_EVS_SET_118_Q71]
. 1 [Option ID = 281]

. 2 [Option ID = 282]

1
2
3. 3 [Option ID = 283]
4. 4 [Option ID = 284]

12) An ecosystem consists of
(1) Only living organisms of an area
(2) Only physical factors of an area

(3) Both living organisms and physical factors of an area

(4) Decomposers and physical factors of an area

(1) TF &= % Fael (A Jrofr
(2) TF & F FAA HIdH FLH
(3) T AT & ST AT A Giia® e 1l
(4) TF T F ATHA AT AT FIH
[Question ID = 72][Question Description = CTET_P1_PART_3_EVS_SET_118_Q72]
1. 1 [Option ID = 285]
2. 2 [Option ID = 286]
3. 3 [Option ID = 287]
4. 4 [Option ID = 288]

13) Choose the correct pair of State and Dance :

(1) Karnataka — Kathak

(2) Tamil Nadu - Lavani

(3) Assam — Buiya

(4) Andhra Pradesh — Kuchipudi



TS &7 T T HEl 0 T A7 I
(1) F 12 — TedF

(2) afEeaTg — FrAnT
(3) FFT — T=AT

(4) wier ST — FETA

[Question ID = 73][Question Description = CTET_P1_PART_3_EVS_SET_118_Q73]
1 [Option ID = 289]
2 [Option ID = 290]
3 [Option ID = 291]
. 4 [Option ID = 292]

A wN =

14) Which one of the following is not a Greenhouse gas ?
(1) CO:
(2) N,
(3) NzO
(4) CHa

feteree § |7 F-H7 76 TE-=7 T dgi e ?
(1) CO2

(2) N2

(3) N2O

(4) CH4

[Question ID = 74][Question Description = CTET_P1_PART_3_EVS_SET_118_Q74]

1. 1 [Option ID = 293]

2. 2 [Option ID = 294]

3. 3 [Option ID = 295]

4. 4 [Option ID = 296]

15) The International Treaty (Agreement) signed in 1987 to control the depletion of ozone layer is

known as

(1) Kyoto Protocol

)

(2) Montreal Protocol

(3) Paris Agreement
)

(4) Doha Agreement



A F TTF F qFAT T WART T 29 1987 F UH FALET HIATH
() 97 gEaee B, e wr s 8

(1) 2T dorg

(2) Aifgae T

(3) e #fer

(4) Az wifr

[Question ID = 75][Question Description = CTET_P1_PART_3_EVS_SET_118_Q75]
1. 1 [Option ID = 297]
2. 2 [Option ID = 298]
3. 3 [Option ID = 299]
4. 4 [Option ID = 300]

Topic:- EVS_Q76-90_P1_S3_CTET

1) Diagnostic tests in EVS will help a teacher to
A.  know the intelligence quotient of learners.

B assess the problems faced by learners during teaching-learning of EVS.
C. assess the pace of learning of students.
D

know how well learner is likely to doin EVS.

(1)Aand C
(2)Aand B
(3)Band D
(4)BandC

Tt § =i e frer i a9

A. =TT FT i AR AT A H

B. zAT.UH. F frgv-afammy F W Henfaat g amar 1 12
THEATAT FT ATHAT oo |

C. TA=ntd=t = sfemra &1 i =1 e 79 4 |

D. =AT.um. | A=t Faar afgar szei= F2m, 78 19 F20 H |

(HAFTC

(2)AFTB

(3)B#™D

(4B C
[Question ID = 76][Question Description = CTET_P1_PART_3_EVS_SET_118_Q76]
1. 1 [Option ID = 301]
2. 2 [Option ID = 302]

3. 3 [Option ID = 303]
4. 4 [Option ID = 304]




2) Formative assessment in EVS at primary stage includes

A. giving feedback to teachers regarding effectiveness of their teaching.

B. identification of deficiencies in teaching.
C. preparation of monthly report cards.

D. identification of learning gaps of students.
Which of the above statements are correct ?

(1)A, BandC
(2)A, B and D
(3)B, Cand D
(4)A, C and D
PIRIEE TR R B L e | e p B e o e O
A Toreai Fr I foreror & weTa & HEW g afagR I H
B. Toraavr | FHHAT F1 Tg9 H |
C. wfis RaE FE a9 7 |
D. TE=nfd=i & 9faws das1a F1 F1 F99 7 |
R R 7 e B e 1 o P e 1 =
(1)A, B &@® C
(2)A, B @7 D
(3)B, C &7 D
(4)A, C#TD
[Question ID = 77][Question Description = CTET_P1_PART_3_EVS_SET_118_Q77]
1. 1 [Option ID = 305]
2. 2 [Option ID = 306]

3. 3 [Option ID = 307]
4. 4 [Option ID = 308]

3) Which of the following is a non-projected teaching aid ?
(1) Chart
(2) Slide
(3) Film Strip
(4) Epidiascope

freaforfaa & 7 Fe-H1 v gy forsmr |t 8 2

[Question ID = 78][Question Description = CTET_P1_PART_3_EVS_SET_118_Q78]



1 [Option ID = 309]
2 [Option ID = 310]
3 [Option ID = 311]
4 [Option ID = 312]

A W N -

4) Mr. Rohan organised a ‘Role play’ on the topic ‘Conservation of Water’. What is the purpose of
organising this role play by Rohan in his classroom ?

(1) He wanted to sensitize students on the need of conserving water for future generations.

(2) He wanted to sensitize students about lack of awareness in the system regarding
conservation of water.

(3) He wanted to raise confidence level in students through role play.

(4) He wanted to learn about students’ views on water conservation to guide them correctly.

AT TrgA 7 A S W HTAw 9T v g Fag v ardaes B e
FEAT § T GTT T T (HAg 1 AT el 7 F47 3597 ¢ 2

(1) 78 Te=mtdat =, |t izt F o o F deequr #F AG9eThmar F T
HagAefer ST J1Ear g |

(2) g F=nfi=t =1, 97 § o F T2 F AT § S F A9T F dAq9T
FLET ATRATE |

(3) T G Taga 51T H=nti=i § Heam™ &1 /7 T97 35T JAgar 2 |

(4) g 5o H¥aam = fFwr § FEnfi & B s sgar g, fea ag o
TRl AR T 7 7o |

[Question ID = 79][Question Description = CTET_P1_PART_3_EVS_SET_118_Q79]
1. 1 [Option ID = 313]
2. 2 [Option ID = 314]
3. 3 [Option ID = 315]
4. 4 [Option ID = 316]

5) The curriculum of EVS is framed with

(1) Constructivist perspective of learning
(2) Integrative perspective of learning
(3) Reflective perspective of learning

(4) Socio-Constructivist perspective of learning

£ A e, fit At wrET g e

(1) #ATERTH & He=FATeTE g §

(2) ATERTH & THTH O TiaeT |

(3) ATERTH = A=A T T0eT §

(4) #AfERT F ATHTE-T=ATER F UieT §
[Question ID = 80][Question Description = CTET_P1_PART_3_EVS_SET_118_Q80]
1. 1 [Option ID = 317]

2. 2 [Option ID = 318]
3. 3 [Option ID = 319]



4. 4 [Option ID = 320]
6) Which of the following should be avoided by the teacher while transacting the EVS themes in
the class ?

(1) Discouraging students to ask questions
(2) Conducting role play

(3) Use of puppets

(4) Group work

FoT ® AT . B w gurew v o9 foers i Feteites 7 ¥ B
F=AT AT ?
(1) =Tt 1 7o T= F ™0 gareried e o
(2) Tt e &7
(3) FELATAT F TTAMT I
(4)FaE FTH
[Question ID = 81][Question Description = CTET_P1_PART_3_EVS_SET_118_Q81]
1 [Option ID = 321]
2 [Option ID = 322]

. 3 [Option ID = 323]
. 4 [Option ID = 324]

A WN -

7) Themes and subthemes in the EVS syliabus have been selected for students

(1)to provide a common interface of issues in the sciences, social sciences, and
environmental education.

(2) for learning EVS in an interesting manner.

(3) to conduct activities from simple to complex.

(4) to develop a better understanding of the immediate environment.

et F o o A o, o | e i st =ee G

(1) =T, AT B S qmEer O # qE #T UE G S99t
TR F7H & (oI |

(2) Fo=eT 997+ 7 . 41,09, HiEq % o |

(3) T TaTEET F1 a7 & Stfear Hf AT G F % o |

(4) =TS THATEW H¥ AgAT AFA AFAT FA F o |

[Question ID = 82][Question Description = CTET_P1_PART_3_EVS_SET_118_Q82]
1 [Option ID = 325]
2 [Option ID = 326]
. 3 [Option ID = 327]
. 4 [Option ID = 328]

A wnN =



8) Which of the following themes/subthemes could be related to the competency given below ?
“Evaluates suggestions regarding counselling and mental well-being for people who have
faced disaster and the trauma of losing one’s home.”

(1) Travel

(2) Shelter

(3) Work and play
(4) Water

(1 e B ) o 0 2 e T R B B o B o s et B e
“IA AT F T gy A AT FAT F A H GATAT FT AR FIAT 2
foregivr &ATT=T 7 ATHAT BT 8 ST SO =T F G F A A Ay A g )

(1) 7=
(2) s
(3) =T &iT AT
(4) o=t

[Question ID = 83][Question Description = CTET_P1_PART_3_EVS_SET_118_Q83]

1. 1 [Option ID = 329]

2. 2 [Option ID = 330]

3. 3 [Option ID = 331]

4. 4 [Option ID = 332]

9) The most appropriate strategy for teaching wastage of water and its conservation in EVS can
be
(1
(2

(3
(

Discussion

Surveys and discussions
Interview

4

T o e S

Experiment

T ALTHE. | UL AT FAET AT T HLA % (90 = o weer SuaEd T
(1) ==
(2) T ST FAT
(3) FTEHTETE
(4) T
[Question ID = 84][Question Description = CTET_P1_PART_3_EVS_SET_118_Q84]
1 [Option ID = 333]
2 [Option ID = 334]

. 3 [Option ID = 335]
. 4 [Option ID = 336]

A W N -



10) Which of the following experience is extremely important for the learners to develop a holistic
understanding of the environment ?

(1) Contextual experience
(2

)
) Abstract experience

(3) Global to local experience
(4)

4) Inclusive experience

(0 P 7 1 o ) e 7 B e B B 2 B e e 7 A 0 R o B g e e e 1
ATAT FAT HEA TN ¢ 2
(1) ITETE AT

(2) I FgIT
(3) AT T T AGHT

(4) THTE T ATHT

[Question ID = 85][Question Description = CTET_P1_PART_3_EVS_SET_118_Q85]
1. 1 [Option ID = 337]
2. 2 [Option ID = 338]
3. 3 [Option ID = 339]
4. 4 [Option ID = 340]

11) An EVS teacher prepares a peer assessment rubric for the assessment of collaboration during
group work. Which of the following dimensions should nof be part of the collaboration ?

(1
(2
3
(

Participation
Leadership
Cooperation

4) Dissociation

P W R s

TH TAT TR, foeEw wg W F I AgAN @ e & o TE JEaet
FATFTT T AATE FLam g | HeAtaiad § 7 FI-97 S0 Gga06 71 5511 781
ST AT ?

(1) AT

(2) 7=

(3) FEATT

(4) g=a=t
[Question ID = 86][Question Description = CTET_P1_PART_3_EVS_SET_118_Q86]

. 1 [Option ID = 341]

. 2 [Option ID = 342]

1
2
3. 3 [Option ID = 343]
4. 4 [Option ID = 344]



12) Which of the following provides ample opportunities to address the socio-emotional aspects

along with the cognitive development of children while celebrating festivals related to the theme
of water ?

(1) Encouraging children to recite or sing folk songs
(2) Experiments

(3) Interviews

(4) Surveys

feafofaa § & F19-a7 oWt % @ur T 99fgT =g 999 997 95491 5
AT & F Arq-a7 ATATSE- AT Tgqd H e % [0 597
STETE T HEAT 2 ?

(1) T==T HT AT FATT AT A F AT TTeATigad FHear
(2) Fm
(3) ATEATTT
(4)H =TT
[Question ID = 87][Question Description = CTET_P1_PART_3_EVS_SET_118_Q87]
1. 1 [Option ID = 345]
2. 2 [Option ID = 346]

3. 3 [Option ID = 347]
4. 4 [Option ID = 348]

13) Which of the following will be effective in breaking ‘subject boundaries’ related to a problem or
a concern in EVS ?

(1
(2
(3
(4

Group discussions
Demonstrations

Lectures

L e s L

Film shows

AT TA. ° ARt o ar S F "@9tae e @ i qrew § Aetataa
T HIF-97 THET ST 2

(1) Fgg =T
(2) T=9

(3) =TT
(4) FreeT oy

[Question ID = 88][Question Description = CTET_P1_PART_3_EVS_SET_118_Q88]
1. 1 [Option ID = 349]
2. 2 [Option ID = 350]
3. 3 [Option ID = 351]
4. 4 [Option ID = 352]



14) Which of the following process skills will be developed by conducting experiments in EVS class
?

(1) Observation skill
(2) Remembering skill
(3) Visual skill

(4) Recognising skill

cAtTE. Fem § wgw Feafofam & & f-ar aben S st w79
(EED LM ER IR L

(1) AT T FATA
(2) ITE 7@ FT FIgA
(3) 397 F9TT

(4) TZATA =T N9

[Question ID = 89][Question Description = CTET_P1_PART_3_EVS_SET_118_Q89]
1. 1 [Option ID = 353]
2. 2 [Option ID = 354]
3. 3 [Option ID = 355]
4. 4 [Option ID = 356]

15) Which of the following should be avoided by the teacher while transacting the EVS themes in
the class ?

(1) Group discussion

3

)
(2) School-based assessment
(3) Emphasis on the right answers by the students.
(4) Visit to community places

FeT T .40, By w1 wurEe w29 o e = fetetes § 7 e
FI4T AT ?

(1) 7 ==

(2) =FA-ATaT T ATHAT

(3) FE=rTi=T 51T #LT ST T |IE &40
(4) ATHETAS TATHL FT 990

[Question ID = 90][Question Description = CTET_P1_PART_3_EVS_SET_118_Q90]
1. 1 [Option ID = 357]
2. 2 [Option ID = 358]
3. 3 [Option ID = 359]
4. 4 [Option ID = 360]

Topic:- HIN_Q91-99_L1_P1_S3_CTET



") fREer ; fAEforfEe TErTer #T UEFT [E T TAT & Agt |99H U 397 a7
fame &7 AT |
T &AW % FeT J T4 9= § | 30 J=e & T, U o Fr a5 ar €
Wl g | A I AT T A § HAE ST FArAT, 19 F 939 A7 "9
W= G0 2 | FERAT T @ ie=Rm # T 2 | 9 T 91 oy S
HETZ 1 9= 2 | g9 3 S09ar @ AT F7 Jrafaiae F2a1 2 | 9399
AT TEr 9T AL Al [T Ow AGATE = A97 g | A0 [WAAr F sqae, d@ A
R ot &% 24 e Fgaram ST g%ar g | Tge TSrT g9 W qAET A
TATET TH g1 Fg AT ST TFHaT 9T | TaAa7 (299 & da9¢ 97 eawwign &
WTAT g AT % A= 7 T 6 §0 S0 =57 FgamT | 6 o {50 307
o 99T gaT g, AT I @TeehT T Fg AT §1ar g, 97 29 HST HgaAT Figd g |
TTHT & FHT HE T ATHTE ATTATH ZAET =AM |
=T % SIgaTe TSET BN T AR FAT g1 718y ?

(1) =™
(2) T
(3) AT

(4) 7T

[Question ID = 121][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_118_HINDI_Q91]
1. 1 [Option ID = 481]
2. 2 [Option ID = 482]
3. 3 [Option ID = 483]
4. 4 [Option ID = 484]




2) foder ; fA=TerfEe TErier # 9EET T T YA & AgT [39H 3UgTh 997 a7
fame &7 AT |
T &AW % FeT J T4 9= § | 30 J=e & T, U o Fr a5 ar €
T § | AT 0 AT T e § Ha9 HO7 74T, 19 § 939 T 59y
W= G0 2 | FERAT T @ ie=Rm # T 2 | 9 T 91 oy S
HETZ 1 9= 2 | g9 3 S09ar @ AT F7 Jrafaiae F2a1 2 | 9399
AT TEr 9T AL Al [T Ow AGATE = A97 g | A0 [WAAr F sqae, d@ A
R ot &% 24 e Fgaram ST g%ar g | Tge TSrT g9 W qAET A
TATET TH g1 Fg AT ST TFHaT 9T | TaAa7 (299 & da9¢ 97 eawwign &
WTAT g AT % A= 7 T 6 §0 S0 =57 FgamT | 6 o {50 307
o 99T gaT g, AT I @TeehT T Fg AT §1ar g, 97 29 HST HgaAT Figd g |
TTHT & FHT HE T ATHTE ATTATH ZAET =AM |
TICC 2w & Hae | qA70 70 AT | 497 7Haaq Jar g ?

(1) TFET | AT 99 & Tg 7041 &1 AT ¢ |
(2) TAT=T F AT 2 Fg T ST AFaAT 2 |

(3) =RF-TT FgTTAT ST FHAT 2 |

(4) e 9T S=E IT F AT S HHAT g |

[Question ID = 122][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_118_HINDI_Q92]
1. 1 [Option ID = 485]
2. 2 [Option ID = 486]
3. 3 [Option ID = 487]
4. 4 [Option ID = 488]




3 fRder ; fAEferiae Terier @7 BET T T FHT & 9gT (999 3ugT 997 a7
fameT Fr g7 |
T &AW % FeT J T4 9= § | 30 J=e & T, U o Fr a5 ar €
R O e L e e s o e e 2 e e e B e Rl
W= G0 2 | FERAT T @ ie=Rm # T 2 | 9 T 91 oy S
HETZ 1 9= 2 | g9 3 S09ar @ AT F7 Jrafaiae F2a1 2 | 9399
AT TEr 9T AL Al [T Ow AGATE = A97 g | A0 [WAAr F sqae, d@ A
R ot &% 24 e Fgaram ST g%ar g | Tge TSrT g9 W qAET A
TATET TH g1 Fg AT ST TFHaT 9T | TaAa7 (299 & da9¢ 97 eawwign &
WTAT g AT % A= 7 T 6 §0 S0 =57 FgamT | 6 o {50 307
o 99T gaT g, AT I @TeehT T Fg AT §1ar g, 97 29 HST HgaAT Figd g |
TTHT & FHT HE T ATHTE ATTATH ZAET =AM |
T AW § Fa9 ST HIF-AT 47 ?

O EAL

(2) &=
(3) e
(4) et

[Question ID = 123][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_118_HINDI_Q93]
1. 1 [Option ID = 489]
2. 2 [Option ID = 490]
3. 3 [Option ID = 491]
4. 4 [Option ID = 492]



4 fader ; RETfefaa eI T 9EHT 9F 7 THT & qgT g9 gug g7 I
faeT #ir AT |
T &AW % FeT J T4 9= § | 30 J=e & T, U o Fr a5 ar €
TR g | A1 T AT T eqS H "9 Su wAedr, €9 § 999 diT 79y
W= G0 2 | FERAT T @ ie=Rm # T 2 | 9 T 91 oy S
HETZ 1 9= 2 | g9 3 S09ar @ AT F7 Jrafaiae F2a1 2 | 9399
AT TEr 9T AL Al [T Ow AGATE = A97 g | A0 [WAAr F sqae, d@ A
R ot &% 24 e Fgaram ST g%ar g | Tge TSrT g9 W qAET A
TATET TH g1 Fg AT ST TFHaT 9T | TaAa7 (299 & da9¢ 97 eawwign &
WTAT g AT % A= 7 T 6 §0 S0 =57 FgamT | 6 o {50 307
o 99T gaT g, AT I @TeehT T Fg AT §1ar g, 97 29 HST HgaAT Figd g |
TTHT & FHT HE T ATHTE ATTATH ZAET =AM |
T T Tt ai=Ta g ?

(1) smiter
(2) 7afz

(3) AT
(4) feraTe

[Question ID = 124][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_118_HINDI_Q94]
1. 1 [Option ID = 493]
2. 2 [Option ID = 494]
3. 3 [Option ID = 495]
4. 4 [Option ID = 496]



5) fRder ; fA=Teriae TErer #7 9EET 9 T JHT & agT (399 3ugT 997 a7
Ao 1 AT |
T &AW % FeT J T4 9= § | 30 J=e & T, U o Fr a5 ar €
LT g | AT I AT TS A ga9 S97 AaAr, f19 § 939 7 "9
A= 2 W | FERAT O A ST giers WA g | 939 T 9 #iY
TS FT GR=TIF g | g2 3T HUear A7 Ggrar ®7 T arae #2471 g | 999
AT TEr 9T AL Al [T Ow AGATE = A97 g | A0 [WAAr F sqae, d@ A
T It & 24 92 FgaEr S GFar 2 | Ted TRid A H gAEg |
TATET TH g1 Fg AT ST TFHaT 9T | TaAa7 (299 & da9¢ 97 eawwign &
WTAT g AT % A= 7 T 6 §0 S0 =57 FgamT | 6 o {50 307
o1 4T ST g, T 7 =ierhe T Fg T WdT g, 97 29 Het FigemT Figd ¢ |
TTHT & FHT HE T ATHTE ATTATH ZAET =AM |
"EASITI0T 3l T TiehdT g ?
(1) €T T 1= F THAT F AT ST D 1FHT Fg T
(2) EH UT FH AT FHT FIAAT
(3) &7 T @ TL T STAHL ATAT

(4) T T FE AT KT TEATHT AT

[Question ID = 125][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_118_HINDI_Q95]
1. 1 [Option ID = 497]
2. 2 [Option ID = 498]
3. 3 [Option ID = 499]
4. 4 [Option ID = 500]



6 fRder ; fA=Teriae Terier #7 TgET T T FHT & AgT [79H 3ugT 997 a7
fame &7 AT |
T &AW % FeT J T4 9= § | 30 J=e & T, U o Fr a5 ar €
T § | AT 0 AT T e § Ha9 HO7 74T, 19 § 939 T 59y
W= G0 2 | FERAT T @ ie=Rm # T 2 | 9 T 91 oy S
HETZ 1 9= 2 | g9 3 S09ar @ AT F7 Jrafaiae F2a1 2 | 9399
AT TEr 9T AL Al [T Ow AGATE = A97 g | A0 [WAAr F sqae, d@ A
R ot &% 24 e Fgaram ST g%ar g | Tge TSrT g9 W qAET A
TATET TH g1 Fg AT ST TFHaT 9T | TaAa7 (299 & da9¢ 97 eawwign &
WTAT g AT % A= 7 T 6 §0 S0 =57 FgamT | 6 o {50 307
o 99T gaT g, AT I @TeehT T Fg AT §1ar g, 97 29 HST HgaAT Figd g |
TTHT & FHT HE T ATHTE ATTATH ZAET =AM |

(1) T + 32T
(2) T + T
(3) T7 + T&T

(4) TF + T&T

[Question ID = 126][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_118_HINDI_Q96]
1. 1 [Option ID = 501]
2. 2 [Option ID = 502]
3. 3 [Option ID = 503]
4. 4 [Option ID = 504]



7 fRder ; fAETefEe TErer #7 9EET 9 T JHT & 9gT (39E 39T 997 a7
faeT #ir AT |
T &AW % FeT J T4 9= § | 30 J=e & T, U o Fr a5 ar €
WAL g | AT I AT AT A’ q99 SUT w4, f19 § 939 {7 999
W= G0 2 | FERAT T @ ie=Rm # T 2 | 9 T 91 oy S
HETZ 1 9= 2 | g9 3 S09ar @ AT F7 Jrafaiae F2a1 2 | 9399
AT TEr 9T AL Al [T Ow AGATE = A97 g | A0 [WAAr F sqae, d@ A
R ot &% 24 e Fgaram ST g%ar g | Tge TSrT g9 W qAET A
TATET TH g1 Fg AT ST TFHaT 9T | TaAa7 (299 & da9¢ 97 eawwign &
WTAT g AT % A= 7 T 6 §0 S0 =57 FgamT | 6 o {50 307
o 99T gaT g, AT I @TeehT T Fg AT §1ar g, 97 29 HST HgaAT Figd g |
TTHT & FHT HE T ATHTE ATTATH ZAET =AM |
FIF-AT 9152 T9er g ?

(1) 3
(2) =%
(3) FaEfaT
(4) &7

[Question ID = 127][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_118_HINDI_Q97]
1. 1 [Option ID = 505]
2. 2 [Option ID = 506]
3. 3 [Option ID = 507]
4. 4 [Option ID = 508]



8 fader ; fA=TaET TETrer F 9EET T T FHT # AgT /999 3UgTh 997 a7
faeT #ir AT |
T &AW % FeT J T4 9= § | 30 J=e & T, U o Fr a5 ar €
WAL g | AT I AT AT A’ q99 SUT w4, f19 § 939 {7 999
W= G0 2 | FERAT T @ ie=Rm # T 2 | 9 T 91 oy S
HETZ 1 9= 2 | g9 3 S09ar @ AT F7 Jrafaiae F2a1 2 | 9399
AT TEr 9T AL Al [T Ow AGATE = A97 g | A0 [WAAr F sqae, d@ A
R ot &% 24 e Fgaram ST g%ar g | Tge TSrT g9 W qAET A
TATET TH g1 Fg AT ST TFHaT 9T | TaAa7 (299 & da9¢ 97 eawwign &
WTAT g AT % A= 7 T 6 §0 S0 =57 FgamT | 6 o {50 307
o 99T gaT g, AT I @TeehT T Fg AT §1ar g, 97 29 HST HgaAT Figd g |
TTHT & FHT HE T ATHTE ATTATH ZAET =AM |
TR0 SgATe o0 U 9TeE g

(1) FerTaTe
(2) FagTE™
(3) FramegaT™
(4) FramgaT™

[Question ID = 128][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_118_HINDI_Q98]
1. 1 [Option ID = 509]
2. 2 [Option ID = 510]
3. 3 [Option ID = 511]
4. 4 [Option ID = 512]



o) fader ; fAEferfEe = # 9EET g U7 T & Agl [JEE gu g9 qT
Ao #r AT |
T 89 & TeT § A9l I =g § | 30 @=eT % Wy G0 af i a7 €
FELT g | A T AT AT S ¥ "ed Fu7 warar, 19 F 939 Y =
= g0 O 8 | FERAT T "gS W7 o= w7 OAAE § | 939 T 9T $iw
TETS T =TT g | g0 3 S09ar dT GUgrel #7 Ffafaiae F2d1 g | 9399
T Y TET U WL A T HT AATE FH a7 ¢ | A0 FAAT F aqe, A H
A7 AT % 24 5 FEIET ST AT 2 | Ug ST A W qAET |
AT TF 2 T ™l ST T5AT o7 | Taaar 3T F qa0e 97 aasrgn &
ST g T T 7= 7 6/ % F00 ST Fi=57 BgamT | ot a7 &G e
o1 34T AT g, T IH Fiorhe T Hg T |AT g, 97 29 Het FigemT Figd g |
THT & AAT HE FT ATHTE ATTGTH ZET =AM |
T IgF T TAA g
(1) &=
(2)=
(3) &x
(4) =

[Question ID = 129][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_118_HINDI_Q99]
1. 1 [Option ID = 513]
2. 2 [Option ID = 514]
3. 3 [Option ID = 515]
4. 4 [Option ID = 516]

Topic:- HIN_Q100-105_L1_P1_S3_CTET



") fREer ; [AEfefaT Fr=rer F1 UEET U TT T4 # ag/Ae9w U 997 a7
faFeT 1 FA0 |
T WA, T FTAL /A AT
STFT {TT, T2 T 94T,
I T THT ITEA |
o THT ST, FAT ST 2
A A TH & A T2
AT 7 Tl =T
T I AF GA-THEAT
T& 7w ? T
T AT I FAT HET ?
AU T HAE TAS AT
FT T T2 F AH-ATII
e HT 5, a9 AL 7T 4 |

F § T Fr i TRt & v G E 2
(1) gt 7=

(23T

(3) ATAT A A &

(4) 96T A5G FIA &

[Question ID = 130][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_118_HINDI_Q100]
1. 1 [Option ID = 517]
2. 2 [Option ID = 518]
3. 3 [Option ID = 519]
4. 4 [Option ID = 520]



2 fRder : fREfefae Fr=arer #1 9297 U5 0 F497 % agi/aed g9 397
faFeT 1 FA0 |
T WA, T FTAL /A AT
STFT {TT, T2 T 94T,
I T THT ITEA |
o THT ST, FAT ST 2
A A TH & A T2
AT 7 Tl =T
T I AF GA-THEAT
T& 7w ? T
T AT I FAT HET ?
AU T HAE TAS AT
FT T T2 F AH-ATII
e HT 5, a9 AL 7T 4 |

(1) wheerey
(2) FT
(3) AT

(4) FrEeT

[Question ID = 131][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_118_HINDI_Q101]
1. 1 [Option ID = 521]
2. 2 [Option ID = 522]
3. 3 [Option ID = 523]
4. 4 [Option ID = 524]




3 fader : fAEfofaa #1279 #1 9297 U5 70 T497 & G99 SUg 397 a7
faeT 1 g0 |
T | AT, T FTAL /A AT
ST}, T2 J9 JT49T,
I T1g THT I |
& THT AT, FAT ST 2
A A TH & A T2
AT 7 Tl =T
T I AF GA-THEAT
T& 7w ? T
T AT I FAT HET ?
AU T HAE TAS AT
FT T T2 F AH-ATII
e HT 5, a9 AL 7T 4 |

s avqE Are-aHI qg weAr A ?

(1) 32
(2) wEfe

(3) ¥
(4) 7

[Question ID = 132][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_118_HINDI_Q102]
1. 1 [Option ID = 525]
2. 2 [Option ID = 526]
3. 3 [Option ID = 527]
4. 4 [Option ID = 528]




4 fader : fAeforaT Fr=mer FF 9297 98 0 97 % ag/aead g9qw 397 I
faFeT 1 FA0 |
T WA, T FTAL /A AT
STFT {TT, T2 T 94T,
I T THT ITEA |
o THT ST, FAT ST 2
A A TH & A T2
AT 7 Tl =T
T I AF GA-THEAT
T& 7w ? T
T AT I FAT HET ?
AU T HAE TAS AT
FT T T2 F AH-ATII
e HT 5, a9 AL 7T 4 |

AHATATATAT SAq =74 g T8 919 & i § amar g 2

(1) AT FT T HLS I
(2) T | &, T HAL AT qH
(3) & =TT ST, AT HAAT ?
(4) T 7 FH ? T we

[Question ID = 133][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_118_HINDI_Q103]
1. 1 [Option ID = 529]
2. 2 [Option ID = 530]
3. 3 [Option ID = 531]
4. 4 [Option ID = 532]



5) fRder : fREfefam Fr=arer #1 9297 U5 07 F497 % agi/aed g9 397
faFeT 1 FA0 |
T WA, T FTAL /A AT
STFT {TT, T2 T 94T,
I T THT ITEA |
o THT ST, FAT ST 2
A A TH & A T2
AT 7 Tl =T
T I AF GA-THEAT
T& 7w ? T
T AT I FAT HET ?
AU T HAE TAS AT
FT T T2 F AH-ATII
e HT 5, a9 AL 7T 4 |

"HTAEAAT T FAHT H=AT i FT AT 2

(1) HTFATT IO T T07
(2) ATHAAT FT AATH
(3) =T FTT =T FAT

(4) HTe=aT 7 Feam

[Question ID = 134][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_118_HINDI_Q104]
1. 1 [Option ID = 533]
2. 2 [Option ID = 534]
3. 3 [Option ID = 535]
4. 4 [Option ID = 536]



6) fader : fAEfofaa #1279 F1 9297 U5 70 T47 & "G99 SUg 397 a7
o 1 Fia0 |
T | AT, T FTAL /A AT
ST}, T2 J9 JT49T,
I T1g THT I |
& THT ST, FAT ST 2
A T T o A 9T ?
AT 7 Tl =T
gl AT A G-TH T
T& 7 F ? T
T AT T FAT FET ?
HIT T HAET TAA T
T T T2 F ACH-ATII
T |1 &, 79 AL 7T 49 |

AT AT
(1) ==

(2) Fetsst

(3) afFeam
(4) s

[Question ID = 135][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_118_HINDI_Q105]
1. 1 [Option ID = 537]
2. 2 [Option ID = 538]
3. 3 [Option ID = 539]
4. 4 [Option ID = 540]

Topic:- HIN_Q106-120_L1_P1_S3_CTET

") T FAT IH AUST T2T Bl 2 | Ag ar=er d F=er T gy g Bmw & Gamf
ATIIMTAATE. [ASUTEs 7 7% | a8 99T AT’ F 59 SUNH F1 @990 72 50

X
22

(1) TETHLT Fr9T

(2) Fer qitas gfatmar
(3) FEITIMTF TATH
(4) FHTFETT U

[Question ID = 136][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_118_HINDI_Q106]
1. 1 [Option ID = 541]
2. 2 [Option ID = 542]
3. 3 [Option ID = 543]
4. 4 [Option ID = 544]



2) =g =EAT £ B gaEw et =gt #1 Ol aeg & o o | a=m = F e
T FT THA AT T g ?

(1) FEHT 3 T37
(2) FFA 10T ST BATA207

(3) @@ T FaT

(4) AT o Brfiareft
[Question ID = 137][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_118_HINDI_Q107]
1. 1 [Option ID = 545]
2. 2 [Option ID = 546]

3. 3 [Option ID = 547]
4. 4 [Option ID = 548]

3 givrerT @ae forenfaa v gHT 98 988 w747 g % T st v Far 7 #iF 1u
or==1 FT AT AUl & AT SIEAT F AW F2471 J19 | 399 39+ HatagQy &
T =1 | |38 Herft 2

(1) ST ATIT F AZTA FT [AAA

(2) IS | Hg T T27 0 AT =TT 7 95 w7 I0
(3) SISAT ATAT F T T FT FT L FHLAT

(4) SIS FT 9757 TUIT AT FIAT

[Question ID = 138][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_118_HINDI_Q108]
1. 1 [Option ID = 549]
2. 2 [Option ID = 550]
3. 3 [Option ID = 551]
4. 4 [Option ID = 552]

4) i s A=A =5 g FET @1 2 | S FT WA w7 1 o it
AT ATRE TSI FLIEIZ ?

(1) FATR AT AT FH T FAT

(2) TTEF T@ 1 3T (Awad FoAT

(3) TEITOMH = TAAT (Hehad el

(4) ATHTT = 07 FHT FFFET F7T
[Question ID = 139][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_118_HINDI_Q109]
1. 1 [Option ID = 553]
2. 2 [Option ID = 554]

3. 3 [Option ID = 555]
4. 4 [Option ID = 556]




5 weraT #wu FERmEAy v am  @e=Er FEr 1@ g | 9g T f Ewer q={
TANT 2 TRl g | g qrar forer ¥ e SO #9400 w7 R g ?
(1) FE=FTTE
(2) =ATHRTIT AFAT
(3) FEITOTHF
(4) THATHT
[Question ID = 140][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_118_HINDI_Q110]
1. 1 [Option ID = 557]
2. 2 [Option ID = 558]

3. 3 [Option ID = 559]
4. 4 [Option ID = 560]

6) TSI ATAT ATEH | 9755 HETY F Hg=d Fl THAAT g | ST AJATT 957 HETT
B e w1 - g 2
(1) FE=Ttaat &1 urs F a7 w59 9Tea1 T Tk Fo S I AT a1 F

forT swgr & |
(2) F=nfoat =1 B0 7 629 F AT U7 95kl & 97 FT ATHE @0 6 o
FET ST |

(3) =it =t orssi it G FAT 3T TAHT AT TS F9A F o7 FHgr AT
(4) =TT =1 Figr & & ot o 36T w59 ors2 & 9T 81 A7 sTe2h19r il
HIE A |
[Question ID = 141][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_118_HINDI_Q111]
1. 1 [Option ID = 561]
2. 2 [Option ID = 562]

3. 3 [Option ID = 563]
4. 4 [Option ID = 564]

7) et ETET AT ST ST SR T F47 T g 2

(1) sATTraTAaFT & T T T

(2) ATATTH ZATHIIT FT THAAT

(3) T = wTuT & AT

(4) ZH T F T TH AT 7 GTOT ST A g
[Question ID = 142][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_118_HINDI_Q112]
1. 1 [Option ID = 565]
2. 2 [Option ID = 566]

3. 3 [Option ID = 567]
4. 4 [Option ID = 568]



8 TET FEAT UF F FEEAAT F el ugt T 2 | 72 FERntEAt v awget F 5=
(1) AT FT T F=FHT IAT 2l 8
(2) AT T % 9 HT TEOT FL TG g
(3) =gt Frau orss fea H AT FT @ 2
(4) e Tt it oe § A T R T
[Question ID = 143][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_118_HINDI_Q113]
1. 1 [Option ID = 569]
2. 2 [Option ID = 570]

3. 3 [Option ID = 571]
4. 4 [Option ID = 572]

o) wrar wfENTH F g9 H AT ST IuHe0r v e B gy afaorEa i
TS ?
(1)ﬁm@r
(2) AT
(3) e
(4) T
[Question ID = 144][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_118_HINDI_Q114]
1. 1 [Option ID = 573]
2. 2 [Option ID = 574]

3. 3 [Option ID = 575]
4. 4 [Option ID = 576]

10) fR=T AT FAT T =HAT AT FAAT FT TS T AT FLAW T U5 19 97 T=T
Tt ¢ | =T =T T R FE AL ?
(1) 9 =t & 97 59 # Farefia amr 2 2
(2) 9 =Tt & 915 7 9fvF 7497 2 2
(3) s+ =ty & =i =7 e a2 2
(4) = =ty &1 94T w31 2 6 Fiaar 79, 92 S g
[Question ID = 145][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_118_HINDI_Q115]
2. 2 [option 0 378

3. 3 [Option ID = 579]
4. 4 [Option ID = 580]




") gfaermae (fAeT) g=T Fees forem 7 geaare it Jrer g 2

(1) =T
(2) FAaT
(3) == AT

(4) THTEHEAT

[Question ID = 146][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_118_HINDI_Q116]
1. 1 [Option ID = 581]
2. 2 [Option ID = 582]
3. 3 [Option ID = 583]
4. 4 [Option ID = 584]

12) SrEE WA diEr T e (S Tt AT SIS 0 T2 §) B AUST IErd gu9T
BTt sz G F1 9O Fear 2 | A8 e MEra s s w@r g ?
(1) F59 It gt
(2) =TT AqaTs farer
(3) =1 f&fer
(4) TrTTHer Frer
[Question ID = 147][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_118_HINDI_Q117]
B

3. 3 [Option ID = 587]
4. 4 [Option ID = 588]

13) TrHT FAT 3 FT TEET F | TS | B0 a0 A1 F frer F 'Ha T A
= [T =1 g=qwTer Fear A v oo & 39 fE=medft /e #1 armes o 99 2

(1) T=7 F1=

(2) sgfeeT fHaTe

(3) |17 75T

OIEERRIEE
[Question ID = 148][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_118_HINDI_Q118]
1. 1 [Option ID = 589]
2. 2 [Option ID = 590]

3. 3 [Option ID = 591]
4. 4 [Option ID = 592]

14) AT A1 9T 957 A T | 5 s It g ?

(1) ==
(2) A=
(3) T3
(4) T
[Question ID = 149][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_118_HINDI_Q119]



A W N -

1 [Option ID = 593]
2 [Option ID = 594]
3 [Option ID = 595]
4 [Option ID = 596]

15) fAeferfaa & § FE-H7 T o= Frere I agie ?

(1) T= =T AT TT=T

(2) fawr foeg it Afeat
(3) T AT (vTg) T FfE
(4) AT 7 Afe

[Question ID = 150][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_118_HINDI_Q120]

A W N -

1 [Option ID = 597]
2 [Option ID = 598]
3 [Option ID = 599]
4 [Option ID = 600]

Topic:- ENG_Q121-128_L2_P1_S3_CTET

1) Directions : Read the passage given below and answer the questions by choosing the

bast/most appropriate options :

1. After independence there have been some government initiatives for public libraries such as
the National Mission on Public Libraries, improving school library services as part of five-year
plans for education and assistance, and provision of grants by the RRRLF for library
programmes aimed at training and development. A few public libraries in villages and talukas
have also been given financial aid in the construction of buildings and upkeep of facilities.
However, these programmes have been ad-hoc and not administered with concerted efforts by
the Ministry of Culture, which manages the National Library of India and the National Archives
of India.

2. Several libraries remain in poor conditions with no concerted programmes — for example,
Livemint reported in May 2013 on a poorly functioning district library in the West Champaran
district of Bihar that housed 12,000 tattered books, managed by a librarian who was paid Z 700
per month — the cost of a meal for one at a mid-range restaurant in a metro city. Nevertheless,
several students visited the library daily to study for their exams.

3. There were 70,817 libraries in rural areas and 4,580 in urban areas serving a population of
more than 830 million and 370 million, respectively, according to the 2011 Census where
libraries were notified (officially identified) for the first time. These numbers roughly translate to
one rural library for every 11,500 people, and one urban library for over 80,000 people.
However, there is no precise information on the functionality and level of service capabilities of
these libraries — the rural libraries could be a room with a few books, while others could be
running through the support of private donors or NGOs.

The National Mission on public libraries aimed at

(1) constructing reading roams in urban areas.
(2) training of library staff.
(3) opening new libraries in rural areas.

(4) improving school library services.



[Question ID = 151][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_118_ENGLISH_Q121]

A W N -

1 [Option ID = 601]
2 [Option ID = 602]
3 [Option ID = 603]
4 [Option ID = 604]

2) Directions : Read the passage given below and answer the questions by choosing the

best/most appropriate options :

1. After independence there have been some government initiatives for public libraries such as
the National Mission on Public Libraries, improving school library services as part of five-year
plans for education and assistance, and provision of grants by the RRRLF for library
programmes aimed at training and development. A few public libraries in villages and talukas
have also been given financial aid in the construction of buildings and upkeep of facilities.
However, these programmes have been ad-hoc and not administered with concerted efforts by
the Ministry of Cuilture; which manages the National Library of India and the National Archives
of India.

2. Several libraries remain in poor conditions with no concerted programmes — for example,
Livemint reported in May 2013 on a poorly functioning district library in the West Champaran
district of Bihar that housed 12,000 tattered books, managed by a librarian who was paid Z 700
per month — the cost of a meal for one at a mid-range restaurant in a metro city. Nevertheless,
several students visited the library daily to study for their exams.

3. There were 70,817 libraries in rural areas and 4,580 in urban areas serving a population of
more than 830 million and 370 million, respectively, according to the 2011 Census where
libraries were notified (officially identified) for the first time. These numbers roughly translate to
one rural library for every 11,500 people, and one urban library for over 80,000 people.
However, there is no precise information on the functionality and level of service capabilities of
these libraries — the rural libraries could be a room with a few books, while others could be
running through the support of private donors or NGOs.

The various library improvement initiatives failed to achieve the desired results because

(1) there was lack of funds to implement the programme.
(2) adequate number of staff were not available.
(3) the authorities did not make planned efforts to address the problem.

(4) the local authorities did not evince much interest.

[Question ID = 152][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_118_ENGLISH_Q122]

1. 1 [Option ID = 605]
2. 2 [Option ID = 606]
3.

4. 4 [Option ID = 608]

3 [Option ID = 607]



3) Directions : Read the passage given below and answer the questions by choosing the

best/most appropriate options :

1. After independence there have been some government initiatives for public libraries such as
the National Mission on Public Libraries, improving school library services as part of five-year
plans for education and assistance, and provision of grants by the RRRLF for library
programmes aimed at training and development. A few public libraries in villages and talukas
have also been given financial aid in the construction of buildings and upkeep of facilities.
However, these programmes have been ad-hoc and not administered with concerted efforts by
the Ministry of Culture; which manages the National Library of India and the National Archives
of India.

2. Several libraries remain in poor conditions with no concerted programmes — for example,
Livemint reported in May 2013 on a poorly functioning district library in the West Champaran
district of Bihar that housed 12,000 tattered books, managed by a librarian who was paid % 700
per month — the cost of a meal for one at a mid-range restaurant in a metro city. Nevertheless,
several students visited the library daily to study for their exams.

3. There were 70,817 libraries in rural areas and 4,580 in urban areas serving a population of
more than 830 million and 370 million, respectively, according to the 2011 Census where
libraries were notified (officially identified) for the first time. These numbers roughly translate to
one rural library for every 11,500 people, and one urban library for over 80,000 people.
However, there is no precise information on the functionality and level of service capabilities of
these libraries — the rural libraries could be a room with a few books, while others could be
running through the support of private donors or NGOs.

The district library in Western Champaran was in a dismal state because

(1) the library building was in a state of utter disrepair.
(2) there was only one librarian to manage the institution.
(3) the authorities did not bother to provide more funds.

(4) stakeholders did not protest against the deteriorating conditions.

[Question ID = 153][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_118_ENGLISH_Q123]

A W N -

1 [Option ID = 609]
2 [Option ID = 610]
3 [Option ID = 611]
4 [Option ID = 612]



4) Directions : Read the passage given below and answer the questions by choosing the

best/most appropriate options :

1. After independence there have been some government initiatives for public libraries such as
the National Mission on Public Libraries, improving school library services as part of five-year
plans for education and assistance, and provision of grants by the RRRLF for library
programmes aimed at training and development. A few public libraries in villages and talukas
have also been given financial aid in the construction of buildings and upkeep of facilities.
However, these programmes have been ad-hoc and not administered with concerted efforts by
the Ministry of Culture; which manages the National Library of India and the National Archives
of India.

2. Several libraries remain in poor conditions with no concerted programmes — for example,
Livemint reported in May 2013 on a poorly functioning district library in the West Champaran
district of Bihar that housed 12,000 tattered books, managed by a librarian who was paid % 700
per month — the cost of a meal for one at a mid-range restaurant in a metro city. Nevertheless,
several students visited the library daily to study for their exams.

3. There were 70,817 libraries in rural areas and 4,580 in urban areas serving a population of
more than 830 million and 370 million, respectively, according to the 2011 Census where
libraries were notified (officially identified) for the first time. These numbers roughly translate to
one rural library for every 11,500 people, and one urban library for over 80,000 people.
However, there is no precise information on the functionality and level of service capabilities of
these libraries — the rural libraries could be a room with a few books, while others could be
running through the support of private donors or NGOs.

Read the following statements :

(A) The district library staff in the West Champaran library were not paid regularly.
(B) Many libraries were probably run by NGOs.

(1) (A) is false and (B) is true

(2) (A) is true and (B) is false

(3) Both (A) and (B) are false

(4) Both (A) and (B) are true

[Question ID = 154][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_118_ENGLISH_Q124]

1. 1 [Option ID = 613]
2. 2 [Option ID = 614]
3.

4. 4 [Option ID = 616]

3 [Option ID = 615]



5) Directions : Read the passage given below and answer the questions by choosing the

best/most appropriate options :

1. After independence there have been some government initiatives for public libraries such as
the National Mission on Public Libraries, improving school library services as part of five-year
plans for education and assistance, and provision of grants by the RRRLF for library
programmes aimed at training and development. A few public libraries in villages and talukas
have also been given financial aid in the construction of buildings and upkeep of facilities.
However, these programmes have been ad-hoc and not administered with concerted efforts by
the Ministry of Culture; which manages the National Library of India and the National Archives
of India.

2. Several libraries remain in poor conditions with no concerted programmes — for example,
Livemint reported in May 2013 on a poorly functioning district library in the West Champaran
district of Bihar that housed 12,000 tattered books, managed by a librarian who was paid % 700
per month — the cost of a meal for one at a mid-range restaurant in a metro city. Nevertheless,
several students visited the library daily to study for their exams.

3. There were 70,817 libraries in rural areas and 4,580 in urban areas serving a population of
more than 830 million and 370 million, respectively, according to the 2011 Census where
libraries were notified (officially identified) for the first time. These numbers roughly translate to
one rural library for every 11,500 people, and one urban library for over 80,000 people.
However, there is no precise information on the functionality and level of service capabilities of
these libraries — the rural libraries could be a room with a few books, while others could be
running through the support of private donors or NGOs.

The word ‘upkeep’ in para 1 means
(1) improvement
(2) beautification
(3) maintenance

(4) management

[Question ID = 155][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_118_ENGLISH_Q125]

A W N -

1 [Option ID = 617]
2 [Option ID = 618]
3 [Option ID = 619]
4 [Option ID = 620]



6) Directions : Read the passage given below and answer the questions by choosing the

best/most appropriate options :

1. After independence there have been some government initiatives for public libraries such as
the National Mission on Public Libraries, improving school library services as part of five-year
plans for education and assistance, and provision of grants by the RRRLF for library
programmes aimed at training and development. A few public libraries in villages and talukas
have also been given financial aid in the construction of buildings and upkeep of facilities.
However, these programmes have been ad-hoc and not administered with concerted efforts by
the Ministry of Culture; which manages the National Library of India and the National Archives
of India.

2. Several libraries remain in poor conditions with no concerted programmes — for example,
Livemint reported in May 2013 on a poorly functioning district library in the West Champaran
district of Bihar that housed 12,000 tattered books, managed by a librarian who was paid % 700
per month — the cost of a meal for one at a mid-range restaurant in a metro city. Nevertheless,
several students visited the library daily to study for their exams.

3. There were 70,817 libraries in rural areas and 4,580 in urban areas serving a population of
more than 830 million and 370 million, respectively, according to the 2011 Census where
libraries were notified (officially identified) for the first time. These numbers roughly translate to
one rural library for every 11,500 people, and one urban library for over 80,000 people.
However, there is no precise information on the functionality and level of service capabilities of
these libraries — the rural libraries could be a room with a few books, while others could be
running through the support of private donors or NGOs.

The word opposite in meaning to the word ‘precise’ in para 3 is

(1) rough
(2) inaccurate
(3) inappropriate

(4) careless

[Question ID = 156][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_118_ENGLISH_Q126]

A W N -

1 [Option ID = 621]
2 [Option ID = 622]
3 [Option ID = 623]
4 [Option ID = 624]



7) Directions : Read the passage given below and answer the questions by choosing the

best/most appropriate options :

1. After independence there have been some government initiatives for public libraries such as
the National Mission on Public Libraries, improving school library services as part of five-year
plans for education and assistance, and provision of grants by the RRRLF for library
programmes aimed at training and development. A few public libraries in villages and talukas
have also been given financial aid in the construction of buildings and upkeep of facilities.
However, these programmes have been ad-hoc and not administered with concerted efforts by
the Ministry of Culture; which manages the National Library of India and the National Archives
of India.

2. Several libraries remain in poor conditions with no concerted programmes — for example,
Livemint reported in May 2013 on a poorly functioning district library in the West Champaran
district of Bihar that housed 12,000 tattered books, managed by a librarian who was paid % 700
per month — the cost of a meal for one at a mid-range restaurant in a metro city. Nevertheless,
several students visited the library daily to study for their exams.

3. There were 70,817 libraries in rural areas and 4,580 in urban areas serving a population of
more than 830 million and 370 million, respectively, according to the 2011 Census where
libraries were notified (officially identified) for the first time. These numbers roughly translate to
one rural library for every 11,500 people, and one urban library for over 80,000 people.
However, there is no precise information on the functionality and level of service capabilities of
these libraries — the rural libraries could be a room with a few books, while others could be
running through the support of private donors or NGOs.

The word ‘tattered’, in“.......... 12000 tattered books .......... "is alan
(1) Noun

(2) Adverb

(3) Adjective

(4) Pronoun

[Question ID = 157][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_118_ENGLISH_Q127]

A W N -

1 [Option ID = 625]
2 [Option ID = 626]
3 [Option ID = 627]
4 [Option ID = 628]



8) Directions : Read the passage given below and answer the questions by choosing the

best/most appropriate options :

1. After independence there have been some government initiatives for public libraries such as
the National Mission on Public Libraries, improving school library services as part of five-year
plans for education and assistance, and provision of grants by the RRRLF for library
programmes aimed at training and development. A few public libraries in villages and talukas
have also been given financial aid in the construction of buildings and upkeep of facilities.
However, these programmes have been ad-hoc and not administered with concerted efforts by
the Ministry of Culture; which manages the National Library of India and the National Archives
of India.

2. Several libraries remain in poor conditions with no concerted programmes — for example,
Livemint reported in May 2013 on a poorly functioning district library in the West Champaran
district of Bihar that housed 12,000 tattered books, managed by a librarian who was paid % 700
per month — the cost of a meal for one at a mid-range restaurant in a metro city. Nevertheless,
several students visited the library daily to study for their exams.

3. There were 70,817 libraries in rural areas and 4,580 in urban areas serving a population of
more than 830 million and 370 million, respectively, according to the 2011 Census where
libraries were notified (officially identified) for the first time. These numbers roughly translate to
one rural library for every 11,500 people, and one urban library for over 80,000 people.
However, there is no precise information on the functionality and level of service capabilities of
these libraries — the rural libraries could be a room with a few books, while others could be
running through the support of private donors or NGOs.

Which part of the following sentence contains an error?
The programme failed because it is not taken up
(a) (b)
seriously by the authorities.
(c) (d)

[Question ID = 158][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_118_ENGLISH_Q128]

A W N -

. 1 [Option ID = 629]

2 [Option ID = 630]
3 [Option ID = 631]
4 [Option ID = 632]

Topic:- ENG_Q129-135_L2_P1_S3_CTET



1) Directions : Read the passage given below and answer the questions by choosing the

best/most appropriate options :

Edison, the prince of inventors was born on " February, 1847, in Milan, Ohio, USA. His
father, Samuel Edison, was in the lumber and grain business. His mother Nancy was a former
school teacher. Young Edison’s eccentricities were evident quite early in life. Energetic,
argumentative and hard to discipline, he was promptly labelled by his teachers as difficult. But
his mother Nancy had the insight to realise that her child was special and required deft
handling. She took him out of school, taught him herself at home and gave him a free hand to
pursue his interests. It was a very wise decision. Formal education and rigid discipline might
have extinguished the spark of creativity in this gifted child, and the loss would have been the
world’s.

Young Edison made full use of the freedom given by his mother. He eagerly devoured books
on physics, chemistry, etc., but never accepted any statement without testing it out for himself.
Designing and constructing gadgets by himself was an all-consuming passion with him.

At the age of twelve, Edison decided it was time to face the world on his own. He began
earning by selling newspapers and food in trains. He then launched a small newspaper of his
own, printing it in a railway carriage. He had to give it up when a reader incensed at his gossip
column threw him fully clothed into a pool of water! He, however, continued to use his railway
carriage as a mini physics-and-chemistry laboratory. But this too came to an end when there
was an explosion in the carriage and the railway staff dumped him, along with his
paraphernalia, at the nearest level crossing!

Which of the following options is nof correct ?

Edison's teachers labelled him as difficult because he was
(1) recalcitrant

(2) agrumentative

(3) eccentric

(4) unmannerly

[Question ID = 159][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_118_ENGLISH_Q129]

A W N -

1 [Option ID = 633]
2 [Option ID = 634]
3 [Option ID = 635]
4 [Option ID = 636]



2) Directions : Read the passage given below and answer the questions by choosing the

best/most appropriate options :

Edison, the prince of inventors was born on " February, 1847, in Milan, Ohio, USA. His
father, Samuel Edison, was in the lumber and grain business. His mother Nancy was a former
school teacher. Young Edison’s eccentricities were evident quite early in life. Energetic,
argumentative and hard to discipline, he was promptly labelled by his teachers as difficult. But
his mother Nancy had the insight to realise that her child was special and required deft
handling. She took him out of school, taught him herself at home and gave him a free hand to
pursue his interests. It was a very wise decision. Formal education and rigid discipline might
have extinguished the spark of creativity in this gifted child, and the loss would have been the
world’s.

Young Edison made full use of the freedom given by his mother. He eagerly devoured books
on physics, chemistry, etc., but never accepted any statement without testing it out for himself.
Designing and constructing gadgets by himself was an all-consuming passion with him.

At the age of twelve, Edison decided it was time to face the world on his own. He began
earning by selling newspapers and food in trains. He then launched a small newspaper of his
own, printing it in a railway carriage. He had to give it up when a reader incensed at his gossip
column threw him fully clothed into a pool of water! He, however, continued to use his railway
carriage as a mini physics-and-chemistry laboratory. But this too came to an end when there
was an explosion in the carriage and the railway staff dumped him, along with his
paraphernalia, at the nearest level crossing!

Realising that her child was special, Edison’s mother

(1) encouraged him to visit science fairs and exhibitions.
(2) gave him complete freedom to pursue his interests.
(3) provided him with all the necessary gadgets.

(4) engaged the best private tutors for him.

[Question ID = 160][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_118_ENGLISH_Q130]

1. 1 [Option ID = 637]
2. 2 [Option ID = 638]
3.

4. 4 [Option ID = 640]

3 [Option ID = 639]



3) Directions : Read the passage given below and answer the questions by choosing the

best/most appropriate options :

Edison, the prince of inventors was born on " February, 1847, in Milan, Ohio, USA. His
father, Samuel Edison, was in the lumber and grain business. His mother Nancy was a former
school teacher. Young Edison’s eccentricities were evident quite early in life. Energetic,
argumentative and hard to discipline, he was promptly labelled by his teachers as difficult. But
his mother Nancy had the insight to realise that her child was special and required deft
handling. She took him out of school, taught him herself at home and gave him a free hand to
pursue his interests. It was a very wise decision. Formal education and rigid discipline might
have extinguished the spark of creativity in this gifted child, and the loss would have been the
world’s.

Young Edison made full use of the freedom given by his mother. He eagerly devoured books
on physics, chemistry, etc., but never accepted any statement without testing it out for himself.
Designing and constructing gadgets by himself was an all-consuming passion with him.

At the age of twelve, Edison decided it was time to face the world on his own. He began
earning by selling newspapers and food in trains. He then launched a small newspaper of his
own, printing it in a railway carriage. He had to give it up when a reader incensed at his gossip
column threw him fully clothed into a pool of water! He, however, continued to use his railway
carriage as a mini physics-and-chemistry laboratory. But this too came to an end when there
was an explosion in the carriage and the railway staff dumped him, along with his
paraphernalia, at the nearest level crossing!

Edison showed great interest in

(1) setting up a printing press.
(2) designing and building appliances.
(3) all kinds of machines.

(4) reading biographies of scientists.

[Question ID = 161][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_118_ENGLISH_Q131]

1. 1 [Option ID = 641]
2. 2 [Option ID = 642]
3.

4. 4 [Option ID = 644]

3 [Option ID = 643]



4) Directions : Read the passage given below and answer the questions by choosing the

best/most appropriate options :

Edison, the prince of inventors was born on " February, 1847, in Milan, Ohio, USA. His
father, Samuel Edison, was in the lumber and grain business. His mother Nancy was a former
school teacher. Young Edison’s eccentricities were evident quite early in life. Energetic,
argumentative and hard to discipline, he was promptly labelled by his teachers as difficult. But
his mother Nancy had the insight to realise that her child was special and required deft
handling. She took him out of school, taught him herself at home and gave him a free hand to
pursue his interests. It was a very wise decision. Formal education and rigid discipline might
have extinguished the spark of creativity in this gifted child, and the loss would have been the
world’s.

Young Edison made full use of the freedom given by his mother. He eagerly devoured books
on physics, chemistry, etc., but never accepted any statement without testing it out for himself.
Designing and constructing gadgets by himself was an all-consuming passion with him.

At the age of twelve, Edison decided it was time to face the world on his own. He began
earning by selling newspapers and food in trains. He then launched a small newspaper of his
own, printing it in a railway carriage. He had to give it up when a reader incensed at his gossip
column threw him fully clothed into a pool of water! He, however, continued to use his railway
carriage as a mini physics-and-chemistry laboratory. But this too came to an end when there
was an explosion in the carriage and the railway staff dumped him, along with his
paraphernalia, at the nearest level crossing!

Read the following statements :

(A) The young Edison had great entrepreneurial skills.

(B) Sethacks did not deter the young Edison from pursuing his interests.
(1) (A) is true and (B) is false

(2) (B) is true and (A) is false

(3) Both (A) and (B) are false

(4) Both (A) and (B) are true

[Question ID = 162][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_118_ENGLISH_Q132]

A W N -

1 [Option ID = 645]
2 [Option ID = 646]
3 [Option ID = 647]
4 [Option ID = 648]



5) Directions : Read the passage given below and answer the questions by choosing the

best/most appropriate options :

Edison, the prince of inventors was born on " February, 1847, in Milan, Ohio, USA. His
father, Samuel Edison, was in the lumber and grain business. His mother Nancy was a former
school teacher. Young Edison’s eccentricities were evident quite early in life. Energetic,
argumentative and hard to discipline, he was promptly labelled by his teachers as difficult. But
his mother Nancy had the insight to realise that her child was special and required deft
handling. She took him out of school, taught him herself at home and gave him a free hand to
pursue his interests. It was a very wise decision. Formal education and rigid discipline might
have extinguished the spark of creativity in this gifted child, and the loss would have been the
world’s.

Young Edison made full use of the freedom given by his mother. He eagerly devoured books
on physics, chemistry, etc., but never accepted any statement without testing it out for himself.
Designing and constructing gadgets by himself was an all-consuming passion with him.

At the age of twelve, Edison decided it was time to face the world on his own. He began
earning by selling newspapers and food in trains. He then launched a small newspaper of his
own, printing it in a railway carriage. He had to give it up when a reader incensed at his gossip
column threw him fully clothed into a pool of water! He, however, continued to use his railway
carriage as a mini physics-and-chemistry laboratory. But this too came to an end when there
was an explosion in the carriage and the railway staff dumped him, along with his
paraphernalia, at the nearest level crossing!

The word ‘evident’ in para 1 means the same as

(1) provident
(2) diligent
(3) obvious

(4) transparent

[Question ID = 163][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_118_ENGLISH_Q133]

1. 1 [Option ID = 649]
2. 2 [Option ID = 650]
3.

4. 4 [Option ID = 652]

3 [Option ID = 651]



6) Directions : Read the passage given below and answer the questions by choosing the

best/most appropriate options :

Edison, the prince of inventors was born on " February, 1847, in Milan, Ohio, USA. His
father, Samuel Edison, was in the lumber and grain business. His mother Nancy was a former
school teacher. Young Edison’s eccentricities were evident quite early in life. Energetic,
argumentative and hard to discipline, he was promptly labelled by his teachers as difficult. But
his mother Nancy had the insight to realise that her child was special and required deft
handling. She took him out of school, taught him herself at home and gave him a free hand to
pursue his interests. It was a very wise decision. Formal education and rigid discipline might
have extinguished the spark of creativity in this gifted child, and the loss would have been the
world’s.

Young Edison made full use of the freedom given by his mother. He eagerly devoured books
on physics, chemistry, etc., but never accepted any statement without testing it out for himself.
Designing and constructing gadgets by himself was an all-consuming passion with him.

At the age of twelve, Edison decided it was time to face the world on his own. He began
earning by selling newspapers and food in trains. He then launched a small newspaper of his
own, printing it in a railway carriage. He had to give it up when a reader incensed at his gossip
column threw him fully clothed into a pool of water! He, however, continued to use his railway
carriage as a mini physics-and-chemistry laboratory. But this too came to an end when there
was an explosion in the carriage and the railway staff dumped him, along with his
paraphernalia, at the nearest level crossing!

The word opposite in meaning to the word ‘incensed’ in para 4 is
(1) puzzled
(2) frustrated

(3) happy
(4) annoyed

[Question ID = 164][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_118_ENGLISH_Q134]

1. 1 [Option ID = 653]
2. 2 [Option ID = 654]
3.

4. 4 [Option ID = 656]

3 [Option ID = 655]



7) Directions : Read the passage given below and answer the questions by choosing the

best/most appropriate options :

Edison, the prince of inventors was born on " February, 1847, in Milan, Ohio, USA. His
father, Samuel Edison, was in the lumber and grain business. His mother Nancy was a former
school teacher. Young Edison’s eccentricities were evident quite early in life. Energetic,
argumentative and hard to discipline, he was promptly labelled by his teachers as difficult. But
his mother Nancy had the insight to realise that her child was special and required deft
handling. She took him out of school, taught him herself at home and gave him a free hand to
pursue his interests. It was a very wise decision. Formal education and rigid discipline might
have extinguished the spark of creativity in this gifted child, and the loss would have been the
world’s.

Young Edison made full use of the freedom given by his mother. He eagerly devoured books
on physics, chemistry, etc., but never accepted any statement without testing it out for himself.
Designing and constructing gadgets by himself was an all-consuming passion with him.

At the age of twelve, Edison decided it was time to face the world on his own. He began
earning by selling newspapers and food in trains. He then launched a small newspaper of his
own, printing it in a railway carriage. He had to give it up when a reader incensed at his gossip
column threw him fully clothed into a pool of water! He, however, continued to use his railway
carriage as a mini physics-and-chemistry laboratory. But this too came to an end when there
was an explosion in the carriage and the railway staff dumped him, along with his
paraphernalia, at the nearest level crossing!

The word ‘tog’ in “But this too came to an end” is a/an

(1) Pronoun
(2) Adverb
(3) Adjective
(4) Noun

[Question ID = 165][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_118_ENGLISH_Q135]

1. 1 [Option ID = 657]
2. 2 [Option ID = 658]
3.

4. 4 [Option ID = 660]

3 [Option ID = 659]

Topic:- ENG_Q136-150_L2_P1_S3_CTET

1) In the primary classes, it is recommended that instruction should be given in the mother tongue

of the children because

(1) it enables children to comprehend.
(2) it creates a natural environment.
(3) it helps the teacher in establishing her autherity in class.

(4) it promotes regional languages.

[Question ID = 166][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_118_ENGLISH_Q136]

A w N =

1 [Option ID = 661]
2 [Option ID = 662]
3 [Option ID = 663]
4 [Option ID = 664]



2) After reading a story, Aparna often jumbles sentences of the story and gives it back to students
to put it in the right order. Aparna is strengthening her students’

(1) Writing skills
(2) Listening skills
(3) Reading Skills
(4) Speaking Skills

[Question ID = 167][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_118_ENGLISH_Q137]
1. 1 [Option ID = 665]
2. 2 [Option ID = 666]
3. 3 [Option ID = 667]
4. 4 [Option ID = 668]

3) The smallest unit of speech in a language capable of altering the meaning of words is

1) Morpheme

3) Grapheme

(

(2) Phoneme
(

(4) Word

[Question ID = 168][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_118_ENGLISH_Q138]
1. 1 [Option ID = 669]
2. 2 [Option ID = 670]
3. 3 [Option ID = 671]
4. 4 [Option ID = 672]

4) Functional syllabus in language learning helps learners to develop

(1) grammatical competencies
(2) dramatic competencies
(3) poetry competencies

(4) creative writing competencies

[Question ID = 169][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_118_ENGLISH_Q139]
1. 1 [Option ID = 673]
2. 2 [Option ID = 674]
3. 3 [Option ID = 675]
4. 4 [Option ID = 676]

5) Neha has developed a valid test for testing her students’ speaking skills; but she needs a lot of
tech equipment to administer her test. Neha's test lacks

(1) Content Validity
(2) Reliability

(3) Face Validity
(4) Practicality

[Question ID = 170][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_118_ENGLISH_Q140]
1. 1 [Option ID = 677]
2. 2 [Option ID = 678]
3. 3 [Option ID = 679]
4. 4 [Option ID = 680]



6) Dyslexia is a language disorder related to
(1) Reading
(2) Writing
(3) Listening
(4) Spelling

[Question ID = 171][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_118_ENGLISH_Q141]
1. 1 [Option ID = 681]
2. 2 [Option ID = 682]
3. 3 [Option ID = 683]
4. 4 [Option ID = 684]

7) Pronunciation, Stress and Intonation in conversations are subskills of

(1) Reading
(2) Writing
(3) Listening
(4) Speaking

[Question ID = 172][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_118_ENGLISH_Q142]
1. 1 [Option ID = 685]
2. 2 [Option ID = 686]
3. 3 [Option ID = 687]
4. 4 [Option ID = 688]

8) Rekha is teaching her students about direction. She can use a for the task sheet
for an activity to strengthen directions.

(1) Journal entry

(2) Map

(3) Flowchart

(4) Substitution Table

[Question ID = 173][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_118_ENGLISH_Q143]
1. 1 [Option ID = 689]
2. 2 [Option ID = 690]
3. 3 [Option ID = 691]
4. 4 [Option ID = 692]

9) Sonam uses charts to name common objects in English. By doing so Sonam is strengthening
which skill of her students?

(1) Reading
(2) Listening
(3) Speaking
(4) Writing

[Question ID = 174][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_118_ENGLISH_Q144]
1. 1 [Option ID = 693]
2. 2 [Option ID = 694]
3. 3 [Option ID = 695]
4. 4 [Option ID = 696]



10) Which of the following statements is nof true about Structural Oral Situational approach?
(1) Language is primarily in speech.
(2) Language is primarily in reading.
(3) Language is primarily in writing.
(

4) Language is primarily in listening.

[Question ID = 175][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_118_ENGLISH_Q145]
1. 1 [Option ID = 697]

2. 2 [Option ID = 698]
3. 3 [Option ID = 699]
4. 4 [Option ID = 700]

11) The four basic language skills are

(1) Reading, writing, listening and speaking
(2) Listening, speaking, understanding and communicating
(3) Speaking, reading, listening and communicating

(4) Writing, speaking, reading and expressing

[Question ID = 176][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_118_ENGLISH_Q146]
1. 1 [Option ID = 701]

2. 2 [Option ID = 702]
3. 3 [Option ID = 703]
4. 4 [Option ID = 704]

12) Picture chart can effectively be used for developing
(1) Speaking and listening skills
(2) Speaking and writing skills
(3) Reading and speaking skills
(4) Reading and listening skills

[Question ID = 177][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_118_ENGLISH_Q147]
1. 1 [Option ID = 705]

2. 2 [Option ID = 706]
3. 3 [Option ID = 707]
4. 4 [Option ID = 708]

13) Which of the following statements is nof true in the context of teaching-learning materials
related to language learning ? Teaching-learning materials
(1) Do not support learning
(2) Support students’ learning
(3) Should be selected based on objectives of teaching
(4) Serve as resource for teachers

[Question ID = 178][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_118_ENGLISH_Q148]
1. 1 [Option ID = 709]

2. 2 [Option ID = 710]
3. 3 [Option ID = 711]
4. 4 [Option ID = 712]



14) is a neurological disorder that leads to imprecise speech.
(1) Dysphasia
(2) Dyspraxia
(3) Dysarthria
(4) Dystopia

[Question ID = 179][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_118_ENGLISH_Q149]
1. 1 [Option ID = 713]
2. 2 [Option ID = 714]
3. 3 [Option ID = 715]
4. 4 [Option ID = 716]

15) The idea that all children are born with an innate knowledge of grammar is given by

(1) Chomsky
(2) Piaget
(3) Vygotsky
(4) Skinner

[Question ID = 180][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_118_ENGLISH_Q150]
1. 1 [Option ID = 717]
2. 2 [Option ID = 718]
3. 3 [Option ID = 719]
4. 4 [Option ID = 720]






